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15000
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0

15000

10000
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T Loz4e+09 /3

TVC(c,b,ch)=(0, 0,0)
T X

po 912.1+ 0.1
pL 200.2+ 0.0

' -5.00 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(0, 0, 4

S rnanZ./49e+09 /3

po -1080+ 0.1
p1 1824+ 0.0
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= =%

100

TP delay [ns]

TVC(c,b,ch)=(0,0, 8

1 nun 2,9yse+09 /3

po -1523+ 0.1
pl 199.9+ 0.0
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100

TP delay [ns]

TVC(c,b,ch)=(0, 0, 12

T zry7e+09/3
po 41266+ 0.1
p1 191+ 0.0

= -5.23I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(0, 0, 1)
T A

“rnun Lobse+09 /3
po 975+ 0.1
pL 203 0.0
15000~ ]
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5000 [~ 71
-
= -4.93 [ps/ch]
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50 100
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TVC(c,b,ch)=(0,0,5)

“rnu 3112e+09/3
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= 5

100

TP delay [ns]

TVC(c,b,ch)=(0,0,9)

1 2,ygse+09 / 3
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p1 195.9+ 0.0
15000 7]
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-
= -5.10 [ps/ch]
0 = L
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T 3.0ure+09/3
po -1306+ 0.1
p1 / 194.3+ 0.0
£ 515 lpslch)
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0 = 5(') 10'0
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10000 -— _-
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[ A= -5.31 [ps/ch]
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100
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%
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]  / e
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= -5.01 [ps/ch]
-/ E——T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (o 1,1)

ALP u:w::e+09/3
-1222+ 0.1
188 7% 0.0

= -5.3(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (O 1

Sy, /me+09/3
-1159 £ 0.1
1869+ 0.0
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100
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100
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‘= -5.42 [ps/ch]
5

100
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-
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- T .

po -1309+ 0.1
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100
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5000 [~

0
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%

100
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= -5.42 [ps/ch
- ﬁ[p |
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S o 2.572e+09/ 3 “rnasayre+09/3

1 3,040e+09 / 3 1o 3.u3ze+09/3
PO -1299+ 0.1 po -1217+ 0.1 o po -1572+ 0.1 po -1251+ 0.1
15000 P 186.1+ 0.0 pl 188.6+ 0.0 r p1 202.4+ 0.0 p1 188.6+ 0.0

TVC(c,b,ch)=(0, 4,0) TVC(c,b,ch)=(0, 4,1) TVC(c,b,ch)=(0, 4, 2) TVC(c,b,ch)=(0, 4, 3)
T I3 T A - T I3 T IS

15000~ 15000
15000 .
10000 E 10000 E 10000k _ 10000 B
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0 £ T00 0 = % 00 0 £ T00 0 = ) 00
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T X7 2.y15e+09 / 3 T X7 3.015e+09 /3 T X~ 3119e+09/ 3 T X rna 317e+09/3
0 - +0. 0 B +0. i 0 - +0. 0 B +0.
ool n/ iwrien n/ e i n/ imases n/ e
15000~ B 15000 ] 15000 e
10000~ T 10000~ B 10000 L ] 10000~ -
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0 - EY 00 0 5 T 0 EY 00 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(0, 4,8) TVC(c,b,ch)=(0, 4,9) TVC(c,b,ch)=(0, 4,10) TVC(c,b,ch)=(0, 4,11)
T X~z 1/e+09 /3 T X~ rnur Z.8e+09/3 T X~ 1 2.8/4e+09 / 3 T X~ nun 3.040e+09 /3
0 - +0. 0 -869.2% 0. F 0 -863.3+ 0. 0 - +0.
n/ mres) ol n/ rees] sl n/ earos n/ meses
15000 F 15000
10000 - 1o000f ] 10000 -_ 7] 10000 - 1
5000 [ E 50001~ T soo0- . 5000 E
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 0, 4, 12) TVC(c,b,ch)=( 0, 4, 13) TVC(c,b,ch)=( 0, 4, 14) TVC(c,b,ch)=( 0, 4, 15)
T X~ z813e+09 / 3 T X~ 11w 2.9ove+09 /3 T X~ zyr1e+09 /3 T K™ 1w 3.094e+09/ 3
0 1280+ 0. 0 1241 0. [ 0 1198+ 0. 0 1416+ 0.
n/ o n/ sees i n/ weises n/ ieses
15000} 3 15000~ 3 150001 ] 15000 ]
10000} E 10000 R 10000 ' _ 10000 E
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= -5.23 [ps/ch] = -5.25 [ps/ch] [ &F= -5.43 [ps/ch] C = -5.10 [ps/ch]
o= —— 1% o 1% Q15
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= -5.04 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (0 59

5000 7

15000

10000

5000

Ty, 1//e+09/3
-1257+ 0.1
1894+ 0.0
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50 100

TP delay [ns]

TVC(c b ch) (O 56

T rnun 3.405e+09 /3
pO 1429+ 0.1
pl 194.7:+ 0.0
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100
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TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (0 12,3)

AT o 4 u:-e+09/3
-1403+ 0.1
197 3% 0.0

= -S'OZ}, [ps/ch]

100

TP delay [ns]

TVC(c, bch) (0 12,7)

-1463+ 0.1

SRRITTIRY Uble+09/3
200 6+ 0.0

= -4.99 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (o 12,11)

-1286+ 0.1

Tnun g Uzze+09/3
191+ 0.0

= -5.23 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (0 12,15)

-1254+ 0.1

A z u::;e+09/3
191 5+ 0.0

£ 522 sl

100

TP delay [ns]



Srna 5U:)J.e+09/3
/ 1119+ 0.1
15000k 183.3+ 0.0
10000~ 7
5000 7
= -5.46 [ps/ch]
0 £ = 100
TP delay [ns]
TVC(c,b ch) (o, 13 4)
-1 2.973e+09 /3
n/ 10200
15000~
10000~ 7]
5000 7
= -5.13 [ps/ch]
0 = 100
TP delay [ns]
TVC(c,b, ch) (0, 13 )
Snu 2o83e+09/3
15000 zcl) / Zfs.:;gol
10000~ T
5000 [~ 7
= -5.85 [ps/ch]
% = 100

15000

10000

5000 [~

TVC(CbCh) (o, 13 0)

TP delay [ns]

TVC(Cbch) (o, 13 12

Tz, r9e+09 /3
-791.6+ 0.1
p1 171+ 0.0

= -5.85I [ps/ch]

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b ch) (0 13,1)

AT 4 auze+09/3
-1395+ 0.1
195 5+ 0.0

3 -5.1155[ps/ch]

100

TP delay [ns]

TVC(c,b Ch) (0, 2!.3 5)

nur 3 1ﬁe+09/3
-1432+ 0.1
1999+ 0.0

= -5.00 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (0 13

S zmze+09/3
-680.5+ 0.1
1687+ 0.0

= -5.93I [ps/ch]
50

100

TP delay [ns]

TVC(c,b ch) (0 13 13)

S 4 mle+0913
-1122+ 0.1
1874+00

£ 534 0psicn)

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

TVC(Cbch) (0,13,2)

1022+ 0.1

AL /me+09/3
- /1789+00

= -5.59I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (o, 13 6

-1065+ 0.1

- rnu 2.9u4e+09 /3
- / 178.9+ 0.0

‘= -5.59 [ps/ch]
EY

100
TP delay [ns]

TVC(cbch) (0, 13 10

0

-807.4% 0.1

T 2.839e+09 /3
- / 1745*' 0.0

= -5.73I [ps/ch]

1
o 50 100

TP delay [ns]

TVC(CbCh) (o, 13 14

-841.4+ 0.1

Tz o2e+09/3
- / 173.5+ 0.0

- -5.76I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b ch) (0 13,3)

-1271+ 0.1

AT g uuue+09/3
1914+ 0.0

= 62?& [ps/ch]

100

TP delay [ns]

TVC(c,b Ch) (0 13 7)

-1120+£ 0.1

SRRITTIPX 34LE+09/3
[ 182 5% 0.0

= -5.48 [ps/ch]
= 5

100
TP delay [ns]

TVC(cbch) (0 13 11)

-1026+ 0.1

Tz, /ue+09/3
L 181 7+ 0.0

= -5.50 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (0 13 15)

-979+ 0.1

S z /U4e+0913
- 175 3+ 0.0

S 5700

TP delay [ns]



T g104e+09 /3

TVC(c,b,ch)=( 0, 14,0)
T X

0 - +0.
n/ e
15000~ B
10000~ E
5000 - _
= -5.15 [ps/ch]
0 - £ T00
TP delay [ns]
TVC(c,b,ch)=(0, 14, 4)
T X~ 1 3.0u0e+09 /3
PO -992.3+ 0.
15000} pl / 1795+ o.o1
10000~ R
5000 - -
‘= -5.57 [ps/ch]
0 = EY 00
TP delay [ns]
TVC(c,b,ch)=( 0, 14, 8)
: X~ 29716409/ 3
po 1160+ 0.1
15000k pl / 183.6% 0.0
10000~ -
5000 [ E
= -5.45 [ps/ch]
% = EY 00
TP delay [ns]
TVC(c,b,ch)=(0, 14, 12)
T X~ 1 2.949e+09 / 3
0 -12024 0.
n /e
15000~
10000~ ]
5000~ E
= -5.29 [ps/ch]
o ——— 1

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 1)
T

AT rnurs.u10e+09/3

15000

10000

5000 [~

PO -1202+ 0.1
pl 188.4+ 0.0

= 53; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 5)

“nun3.038e+09 /3

15000

10000

5000

Y -927.9+ 0.1
o pL 176.4+ 0.0

'~ -5.67 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b,ch)=(0, 14,9)

Tonan 3113e+09/ 3

15000

10000

5000 [~

po 1128+ 0.1
[ p1 185+ 00

15000

10000

5000 [~

= -5.40I [ps/ch]
50

100

TP delay [ns]

Tinu2y/0e+09/3

TVC(c,b,ch)=( 0, 14, 13 )

PO 1276+ 0.1
pl 191.7+ 0.0

S 522 psich)

100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 2)
T X

T 5.092e+09 /3

15000

10000

5000~

po -1270+ 0.1
pl 189.3+ 0.0

= -5.28 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 6

15000

10000

5000

S rnu 2.983e+09 /3
+ po -888.3+ 0.1
o pl 175.7:+ 0.0

15000

10000

5000

0

15000

10000

5000

= -5.69 [ps/ch]
£

100
TP delay [ns]

TVC(c,b,ch)=(0, 14, 10

T 3.081e+09 /3
po -1252+ 0.1
pl 190.6+ 0.0

= -5.25 [ps/ch]

- 1 1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 14)

S 297e+09/3
PO -1268+ 0.1
pl 188.4+ 0.0

= -5.31 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 3)
T

AT 1o 2s1e+09/ 3

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

PO -959.1+ 0.1
r pl 1758+ 0.0

= -5.626 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 7)

- nu3.0uze+09/3

Y -1090+ 0.1
N pL 183.7+ 0.0

‘= -5.45 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b,ch)=( 0, 14, 11)

fiun 3.12e+09 /3
p0 -1280+ 0.1
pl 190.2+ 0.0

= -5.26 [ps/ch
= ﬁ[p |

100

TP delay [ns]

Tonan $3.311e+09/3

TVC(c,b,ch)=( 0, 14, 15)

po 1271+ 0.1
pl 188.6+ 0.0

£ 530 psich)

100

TP delay [ns]



n/
10000~ 7
5000 Ny
= -6.03 [ps/ch]
0, 5[') 100
TP delay [ns]
TVC(c,b,ch)=(0, 15, 4)
: X© 1 2.939e+09 / 3
po 1264+ 0.1
ool p1 / 189.1% 0.0
10000~ 7]
5000 [~ 7
= -5.29 [ps/ch]
0 = 5(') 100
TP delay [ns]
TVC(c,b,ch)=( 0, 15, 8)
T X 1nunz r59e+09 /3
po 1156+ 0.1
ol p1 / 186.3+ 0.0
10000 - T
5000 [~ ]
= -5.37 [ps/ch]
0y B = 100

15000

10000

5000 [~

Tonu Zooe+09/3

TVC(c,b,ch)=( 0, 15, 0)
T X

TP delay [ns]

TVC(c,b,ch)=( 0, 15, 12

Tnu2,930e+09/3
PO -1017+ 0.1
pl 179.4+ 0.0

= -5.58I [ps/ch]

TP delay [ns]

15000

10000

5000 7

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

Tonun 23e+09/3

TVC(c,b,ch)=( 0, 15, 1)
T A

po -789.9+ 0.1
B p1 171.6+ 0.0

= -5'825 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 0, 15, 5)

“nun3.029e+09 /3

Y 1232+ 0.1
pL 187.1+ 0.0

= -5.35 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=( 0, 15, 9)
T X

- nar z.ve+09 /3

pO -1044+0.1

I 184.9+ 0.0
‘= -5.41 [ps/ch]
= 5:) 100
TP delay [ns]

- rnan 2.ve+09 /3

TVC(c,b,ch)=( 0, 15, 13 )
T X

p0  /-1053+0.1
184.4+ 0.0

s a2lpsic

TP delay [ns]

T 2941e+09/3

15000~
10000~

5000 [~

TVC(c,b,ch)=( 0, 15, 2)
T X

po <1171+ 0.1
pl 186.1+ 0.0

‘= -5.37 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 15, 6

15000~
10000~

5000 =

- rnu 3.0u2e+09 /3
LY 1290+ 0.1
pl 192.8+ 0.0

‘= -5.19 [ps/ch]
- £

100
TP delay [ns]

TVC(c,b,ch)=(0, 15, 10
- T X

15000~
10000 -
5000 [~

0

1 nar 23-»09 /3
po -1002+ 0.1
pl / 179.8+0.0

‘= -5.56 [ps/ch]

= 1 1
50 100

TP delay [ns]

15000~
10000~

5000~

L = -5.84I [ps/ch]

TVC(c,b,ch)=( 0, 15, 14 )

Trnu 2852e+09/3
PO -798.3+ 0.1
pl 171.2+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

AT rnuanzu1e+09/3

TVC(c,b,ch)=( 0, 15, 3)
T

PO -1092+ 0.1
L p1 184.2+ 0.0

r -5.4:; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(0, 15, 7)

nur 3.011e+09/3

Y 1247+ 0.1
pL 188.9:+ 0.0

= -5.29 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(0, 15, 11)

Tonun 2z /bbe+09 /3
pO -806.1+ 0.1
p1 170.9+ 0.0

= -5.85 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

Tinuan2804e+09 /3

TVC(c,b,ch)=( 0, 15, 15)

PO -1097+ 0.1
pl 185.4+ 0.0

-

540 0psic)

TP delay [ns]



15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000 [~

1nun 2 50e+09 /3

TVC(c,b,ch)=(1,0,0)
T *

PO -1309+ 0.1
pl 195+ 0.0

= -5.13 [ps/ch]
= Sll) 100
TP delay [ns]
TVC(c,b,ch)=(1,0,4)
T X-rnunz.51e+09 /3
b n/ ”_‘
G4 -5.32 [ps/ch]
- 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(1,0,8)
T X~ Zbr1e+09 /3
i n/ _‘
‘= -5.45 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(1, 0, 12)
T X1z rz(e+09 /3
i n/ _‘
‘= -5.64 [ps/ch]
e S(I) —t— 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

'

TVC(c,b,ch)=(1, 0
T A

1)

= -5.1(5_)é [ps/ch]

“rnun z823e+09/ 3
PO -1401+ 0.1
p1 196.1+ 0.0

TP d

TVC(c,b,ch)=(1, 0

'

100

elay [ns]

. 5)

= -5.18 [ps/ch]
5

S 2.6/2e+09/3
Y -1288+ 0.1
pl 193+ 0.0

TPd

TVC(c,b,ch)=( 1, 0

100

elay [ns]

,9)

1nun 2.530e+09 /3

p0 9322+ 0.1
pl 178.5+ 0.0

- -5.60 [ps/ch]
5

TP d

-

TVC(c,b,ch)=(1, 0,

100

elay [ns]

13)

nurz./19e+09 /3

PO -1098+ 0.1
pl 183.6+ 0.0

= 545 sl

TP d

100

elay [ns]

TVC(c,b,ch)=(1, 0, 2
F T

rnanz.ev09/3

=
0 1203+ 0.1
[ El /190.2: 0.0
15000 =
10000 ]
so00|- ]
[ &#= -5.26 [ps/ch]
o = 51'3 100
TP delay [ns]
TVC(c,b,ch)=(1,0,6)
T X~ 1un Zibane+09/ 3
LY 1069+ 0.1
15000 pl / 183.1% 0.0
10000 ]
5000-_ _-
[ (A= -5.46 [ps/ch]
0 = S(IJ 100

TP delay [ns]

TVC(c,b,ch)=( 1, 0, 10)

C T K71 2.000e+09 /3

[ po -896.3+ 0.1
15000~ pl / 178.8+ 0.0
10000 -— _-

5000 L ]
L = -5.59 [ps/ch]
% EY 00

TP delay [ns]

TVC(c,b,ch)=(1, 0, 14)
- r X~ 1w 2859e+09 /3
0 1314+ 0,
i n/ s
15000~ 7
10000 .
soo0- .
[ G4 -5.21 [psich]
[ - EE——

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

-

TVC(c,b,ch)=(1,0,3)
T A

nur 5.u10e+09 /3
-1371£ 0.1

po
pL 196.6+ 0.0

G4 -5.09 [ps/ch]
= gé 100
TP delay [ns]
TVC(c,b,ch)=(1,0,7)
T X7 rnan 2 /u1e+09/3
n/ _‘
‘= -5.19 [ps/ch]
- 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(1,0,11)
T A7 nun zbyye+09 /3
0 -961.5% 0.
i n/ Tasies
= -5.61 [ps/ch]
= gé 100
TP delay [ns]
TVC(c,b,ch)=(1, 0, 15)
T A~ 1z 743e+09 /3
g n
= -5.32 [ps/ch]
* —— gé * * — 100
TP delay [ns]



T wase+09/3
-1274+ 0.1
/ 187.9+ 0.0
15000
10000 ]
5000 i
= -5.32 [ps/ch]
0 = 5[') 100
TP delay [ns]
TVC(c,b ch) (11,4)
S rnun 2.863e+09 /3
pO 065+ 0.
15000~ pl / ;9,:: o.o1
10000~ ]
5000 [~ -
‘= -5.57 [ps/ch]
0 = EY T00
TP delay [ns]
TVC(c,b ch) (1,1,8)
Trnu2815e+09/3
o +
ssoool- n/ e
10000 -1
5000~ E
= -5.78 [ps/ch]
% EY 00
TP delay [ns]
TVC(c,b ch) (1,1,12)
Taonuz81/e+09/3
15000 p1 / 11;6‘?:(?01
10000 i
5000~ E
= -5.45 [ps/ch]
O E— 5(') * * * * 100

TVC(cbch) (1,1,0)

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000

TVC(cbch) (1 1,1)

Trnang uA/e+09/3
-1223+ 0.1
189+ 0.0

= -5.2&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 1

AL L2 3zye+09/3
-1298+ 0.1
189 5% 0.0

= -5.28 [ps/ch]
- 5

100
TP delay [ns]

TVCEebeh)=( 1, ;

7 zmse+09/3
-938.7+ 0.1
1779+ 0.0

= -5.62 [ps/ch]
5

100

TP delay [ns]

TVC(cbch) (1 1,13)

T ¢ Udbe+09/3
-1346+ 0.1
193+ 0.0

<518 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (1 1,2)

ALY suoze+09/3
-1076+ 0.1
179.7+ 0.0

= -5.56I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (1 1,6

Trnu 3u%e+09/3
pO 1314+ 0.1
pl 194+ 0.0

‘= -5.15 [ps/ch]
= £

100
TP delay [ns]

TVC(e.b.ch)= (1 1,10

T 2. 808e+09 /3
-909.6+ 0.1
1744+00

- -5.73I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 1,14

T g1use+09 /3
-1453+ 0.1
199.2+ 0.0

5,02 [psich]

50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 1,3)

Tnan g uu:-e+09/3
-946.8+ 0.1
176.1% 0.0

hY

= -5.6?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 1,7

AL PR d4de+09/3
-1053+ 0.1
179 5% 0.0

= -5.57 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 1

Tz, /u::e+09/3
-980.5+ 0.1
1792+ 0.0

'~ -5.58 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (1 1,15)

T z /U4e+0913
-1147 + 0.1
186+ 0.0

538 psich]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (1 2,0)

ALY £6659+09/3
-1430+ 0.1
195.4+ 0.0

-5.12I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 2,4

S rnan 2.9zee+09 /3
pO 1223+ 0.1
pl 187.7:+ 0.0

= -5.33 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (1 2,8

Tz r33e+09 /3
PD -1207+ 0.1
pl 190.5+ 0.0

= -5.25 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (1 2,12

T 3.040e+09 /3
-1468+ 0.1
203.7+ 0.0

< 491 [psich] |

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

20000

15000

10000

5000

TVC(cbch) (1 2,1)

Trnang u:we+09/3
-1181+ 0.1
187 5+ 0.0

= -5.3?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 2

AL L2 wse+09/3
-1188 £ 0.1
189 3+ 0.0

= -5.28 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1, 2

AL z:mse+09/3
-966.8+ 0.1
1804+ 0.0

= -5.54I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (1 2,13)

T ¢ mue+09/3
-1792+ 0.1
2153+ 0.0

4 4,64 [psich]

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000 [~

0

15000
10000

5000

TVC(cbch) (1,2,2)

Pt w«e+09/3
1258+ 0.1
Pl 1915+ 0.0

= -5.22I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (1 2,6

S rnu2.89/e+09/3
pO 1064+ 0.1
pl 182+ 0.0

‘= -5.49 [ps/ch]
= £

100
TP delay [ns]

TVC(eh,ch)= (1 2,10

T 2.812e+09 /3
-964.3% 0.1
178.8+ 0.0

= -5.59I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 2,14

T z9ure+09/3
-1383+ 0.1
200.2+ 0.0

£-5.00 [psicr]

50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 2,3)

AT rnan 43ue+09/3
-1092+ 0.1
1844+ 0.0

= -5.4?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 2,7

S 134JE+09/3
-1196 £ 0.1
1882+ 0.0

= -5.31 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 2

Tz a4ue+09/3
-1246+ 0.1
193 6+ 0.0

= -5.16 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (1 2,15)

T 4 Uue+09/3
-1049+ 0.1
177 5+ 0.0

C 563lpsich)

TP delay [ns]



T 5.uy0e+09 /3

TVC(c,b,ch)=(1, 3,0)
T X

0 - +
n /e
15000~ 7
10000 7]
5000~ 7]
= -4.94 [ps/ch]
0 = 100
TP delay [ns]
TVC(c,b,ch)=(1,3,4)
; X~ rnun 2 ry1e+09/ 3
po -1388: 0.
p1 / 1193: o.o1
15000 ]
10000~ 71
5000 | 7
-5.18 [ps/ch]
0 = 00
TP delay [ns]
TVC(cb,ch)=(1,8,8)
: Ko Zsset
po 1149 0.1
p1 / 189+ 0.0
15000~ 7]
10000~ 7
5000 [~ 7]
‘= -5.29 [ps/ch]
0y £ = 100
TP delay [ns]
TVC(c,b,ch)=(1, 3, 12)

, X~ 1w Zpoze+09 / 3
15000~ zll) / 17(?8172; (?.61
100001 7]

5000~ 7]
= -5.93 [ps/ch]
[ N (Em——

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

TVC(c,b,ch)=(1,3,1)
T A

I~ 5.1?é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,3,5)

Tonun3.243e+09 /3

po -1639+ 0.1
p1 2053+ 0.0

~ e s.0ube+09 /3
po 1336+ 0.1
p1 1955+ 0.0

= -4.87 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1, 3,9)

’
Tonanz./39e+09 /3

n /e
= -5.26 [ps/ch]
= = 100
TP delay [ns]

Tanuzoz7e+09/3

TVC(c,b,ch)=( 1, 3, 13)

po -818.7+ 0.1
L pl 175.6+ 0.0

¥ s 69lpsch)

TP delay [ns]

T s.uove+09 /3

TVC(c,b,ch)=(1, 3,2)
T X

po 1148 + 0.1
pL 185.2:+ 0.0

15000
10000 -— _-
5000 -— _-
[ GA=-5.40 [ps/ch]
0 = = 100
TP delay [ns]
TVC(c,b,ch)=(1,3,6)
i ; X7 U 3Us1e+09 /3
[ 0 - +0.
: o
15000 ]
10000 :— _:
5000 -— _-
[ G4 -4.87 [ps/ch]
0 50

100
TP delay [ns]

TVC(c,b,ch)=(1, 3, 10

15000

10000

5000

0

Tz oe+09/3
-1160 £ 0.1
190+ 0.0

‘= -5.26 [ps/ch]

- 1 L
50 100

TP delay [ns]

15000

10000

5000

L = -5.75 [ps/ch]

TVC(c,b,ch)=(1, 3, 14

T zozze+09 /3
po 8175+ 0.1
p1 174+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(1, 3, 3)
T A

T s.usLe+09 /3
po -1361+ 0.1
p1 1955+ 0.0

= -5.1?6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,3,7)

- rnuz2yp1e+09/3

po 1473 0.1
p1 1993+ 0.0

‘= -5.02 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(1, 3, 11)

Tonun2.862e+09/ 3

po -1075+ 0.1
pL 184.3+ 0.0

= -5.43 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tananz.73e+09/3

TVC(c,b,ch)=(1, 3, 15)

po 8615+ 0.1
pl 174.7+ 0.0

#5720l

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

T g.223e+09 /3

TVC(c,b,ch)=(1, 4,0)
T A

po 1613+ 0.1
pL 206.2+ 0.0

-4.85 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 4, 4

S a2 bbbe+09 /3
po -1059+ 0.1
[ p1 179.5+ 0.0

=-5.57 [ps/ch]
0

5 00

TP delay [ns]

TVC(c,b,ch)=(1, 4, 8)
T X

- nar z.oe+09 /3
po -1251+ 0.1
pl / 191.3%0.0

= -5.23 [ps/ch]
£

100

TP delay [ns]

TVC(c.b,ch)=( 1, 4, 12

T 2.854e+09 /3
po 41128+ 0.1
p1 187.4+ 0.0

= -5.34I [ps/ch]

100

TP delay [ns]

20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

T 1143e+09 /2

TVC(c,b,ch)=(1, 4,1)
T A

po -1547+ 0.1
pl 213.4+ 0.0

= -4.69 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 4,5)

“onuan2y/0e+09 /3
po 1249+ 0.1
pl 191.2+ 0.0

= -5.23 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(1,4,9)

1 2.8/9e+09 /3

po -1168 £ 0.1
pl 186.4+ 0.0

= -5.37I [ps/ch]
50

100

TP delay [ns]

Tinun z8o0e+09 /3

TVC(c,b,ch)=(1, 4, 13)

po -1092+ 0.1
[ pl 184.4+ 0.0

5425t

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

T 51s0e+09 /3

TVC(c,b,ch)=(1, 4,2)
T A

po -1506+ 0.1
pL 200.9+ 0.0

= -4.98 [psich]

100

TP delay [ns]

TVC(c,b,ch)=(1, 4,6

“anu 294e+09 /3
po -1261% 0.1
p1 189.8+ 0.0

= -5.27 [ps/ch]
- EY

100
TP delay [ns]

TVC(c,b,ch)=( 1, 4, 10

Tz 10e+09 /3
po -1118+ 0.1
pl 181.3+ 0.0

‘= -5.52 [ps/ch]

- 1 L
50 100

TP delay [ns]

[ A= -5.40I [ps/ch]

TVC(c,b,ch)=(1, 4, 14

T z8uze+09 /3
po 41133+ 0.1
p1 185.2+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

T g.1sve+09 /3

TVC(c,b,ch)=(1, 4, 3)
T A

po -1526+ 0.1
pL 201.9:+ 0.0

= -4.9&;_:é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,4,7)

Cnu 2837e+09/3
po -1185+ 0.1
p1 188.1+ 0.0

= -5.32 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(1, 4, 11)

“ona2.9yze+09/3

po -1290+ 0.1
pL 193.4+ 0.0

= -5.17 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tonanz./z2ze+09/3

TVC(c,b,ch)=(1, 4,15)

po -1185+ 0.1
pl 186.2+ 0.0

SIS

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000 [~

T zy1e+09/3

TVC(c,b,ch)=(1,5,0)
T X

-1191+ 0.1

po
p1 184.9+ 0.0

= -5.41 [psl/ch]
= Sll) 100
TP delay [ns]
TVC(c,b,ch)=(1,5,4)
T Xornan 2 rz5e+09 /3
g n/ _‘
‘= -5.44 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(1,5,8)
T X~ 1 Z598e+09 / 3
s 2/ ]
= -5.63 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(1,5,12)
T X1 zyrze+09 /3
g n/ u_‘
= -5.40 [ps/ch]
e S(I) —t— 100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

TVC(c,b,ch)=(1,5,1)
T A

T 2.9s0e+09 /3
-1236+ 0.1
188.3+ 0.0

po
pL

= 53; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,5,5)

“nan 2 8be+09 /3

po
pl

-1131+ 0.1
183.1% 0.0

= -5.46 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(1,5,9)

1 2.838e+09 / 3
po 1140+ 0.1
i pl / 186.7+ 0.0
= -5.36 [ps/ch]
= = 100
TP delay [ns]

TVC(c,b,ch)=( 1,5, 13)

~ 1 2.9obe+09 /3
po 1225+ 0.1
p1 190+ 0.0
15000 [ 7]
10000 - 7]
5000 [~ 71
9
= -5.26 [ps/ch]
0 P B S
50 100
TP delay [ns]

T suy/e+09/3

TVC(c,b,ch)=(1,5,2)
F T .

po 41217+ 0.1
L pl / 190+ 00
15000 ]
10000 .
so00|- .
[ &#=-5.26 [ps/ch]
0 £ 5(') 100
TP delay [ns]
TVC(c,b,ch)=(1,5,6)
_ : X~ 1 120e+09 / 3
po 1463+ 0.1
. p1 / 203+ 0.0
15000~ 7]
10000 :_ _:
so00- _
[ 4= -4.93 [ps/ch]
0, - 50 100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 10

T 31z0e+09 /3

-1300+ 0.1

[ 194+ 0.0
15000~ 7]
10000~ ]

sooo}- ]
C ]
[
-
[ A= -5.15 [ps/ch]
- 1 L
0y 50 100

TP delay [ns]

TVC(c,b,ch)=(1, 5, 14)
. r X~ 1w 2 yz0e+09 /3
0 1247+ 0.
i n/ msies
15000~ 7]
100001 .
so00- .
[ &= -5.20 [ps/ch]
[ - EEE——T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(1, 5,
T A

3)

1 2 844e+09 /3

po -1062+ 0.1
pL 184.2:+ 0.0

= -5.4:; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1, 5,

7)

1 2. y8ze+09 /3

po 1173+ 0.1
p1 187.7+ 0.0

= -5.33 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(1, 5,

11)

“onua2.9y3e+09 /3

po
pL 191.3+ 0.0

-1219+ 0.1

= -5.23 [ps/ch
ﬁ[p ]

100

TP delay [ns]

Tinazy17e+09/3

TVC(c,b,ch)=(1,5, 15)

-1055+ 0.1

po
pl 182.7+ 0.0

£ 547 [pslon]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000

TVC(cbch) (1 6,0)

LAl 46Ut¢e+09/3
-1185+ 0.1
180.8+ 0.0

= -5.53I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 6,4

“ a2 bbbe+09 /3
pO 1393+ 0.1
pl 197.9:+ 0.0

‘= -5.05 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (1 6,8

T zp1oe+09 /3
PD -929+ 0.1
pl 176.7+ 0.0

'~ -5.66 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (1,6,12

Tonuzyo1e+09/3
-1346+ 0.1
P1 193.1% 0.0

= -5.18I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 6,1)

Tona 4 3:7/9+09/3
-1331+ 0.1
192 6+ 0.0

= -5.1&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 6

AL L2 b&ue+09/3
-1339+ 0.1
194.1% 0.0

= -5.15 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 6,9

Ty /Ibe+09/3
-955+ 0.1
1805+ 0.0

= -5.54I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (1 6,13)

T 4 HUJ.e+09/3
-1306+ 0.1
193 7+0.0

£ 5165

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000~

0

15000

10000

TVC(cbch) (1 6,2)

ALY 61619+09/3
-1428+ 0.1
199.6+ 0.0

= -5.01 [psich]

100

TP delay [ns]

TVC(c b ch) (1 6, 6

S a2 883e+09 /3
pO 41242+ 0.1
pl 192.9:+ 0.0

‘= -5.18 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (1 6,10

X 1nun Z28pe+09 /3
-895+ 0.1
176.5+ 0.0

= -5.67I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 6,14

5000 [~
3

T z971e+09/3
-1217+ 0.1
189. 9+ 0.0

= -5.27I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 6,3)

AL 3UIe+09/3
-1211+ 0.1
189.1+ 0.0

= -5.226 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 6

Sz, /4LE+09/3
-993.2+ 0.1
1805+ 0.0

‘= -5.54 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 6

Sl zazue+09/3
-787.4% 0.1
1714+ 0.0

= -5.84 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (1 6,15)

T z uue+09/3
-1301% 0.1
192 8+ 0.0

£519bseh]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (1 7,0)

LAl wase+09/3
-1172+ 0.1
184.8+ 0.0

=-541 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 7,4

Srnanz/15e+09/3
pO 1164 + 0.1
- pl 181.1+ 0.0

= -5.52I [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (1 7,8

T 2.880e+09 /3
PD -1321% 0.1
pl 192.2+ 0.0

= -5.20 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (1,7,12

Tanunzoo2e+09/3
-1070+ 0.1
P1 180.8 + 0.0

= -5.53I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

TVC(cbch) (1 7,1)

Tona J u:we+09/3
-1299+ 0.1
190 2+ 0.0

= -5.2(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 7

Ty, wbe+09/3
-1444+ 0.1
198 2+ 0.0

= -5.04 [ps/ch]
50

100
TP delay [ns]

TVCEebeh)=( 1, 7

rnany msbe+09/3
-1101% 0.1
1819+ 0.0

= -5.50I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (1, 7 13)

Al 4 Hle+0913
-1136+ 0.1
185+ 0.0

s aipsich)

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000~

0

15000
10000

5000 [~

TVC(cbch) (1 7,2)

LAl 4‘.7(69+09/3
-1101+ 0.1
181.6+ 0.0

= -5.51I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (1 7,6

Srnu 3.03e+09/3
pO 41323+ 0.1
pl 193.2:+ 0.0

= -5.18 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (1 7,10

T z.9y3e+09 /3
-1105+ 0.1
183.1+ 0.0

= -5.46I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 7,14

T 2.890e+09 /3
-997 £ 0.1
178.6+ 0.0

= -5.60I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 7.3)

Tona 4 u¢4e+09/3
-1347+ 0.1
193 6+ 0.0

= -5.1; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1 7,7

S g zz/e+09/3
-1535+ 0.1
201 5% 0.0

= -4.96 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (1 7 11

Sy, iJ_le+0913
-1389+ 0.1
194 5+ 0.0

= -5.14 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (1 7,15)

S z a44e+09/3
-1171+ 0.1
186 9+ 0.0

535 lpsich)

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (1 8,0)

T 5U(be+09/3
-1234+ 0.1
188.1+ 0.0

= -5.32I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (1 8,4

- rnan 3.081e+09 /3
pO -1500+ 0.1
p1 200.2 0.0

= -5.00 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (1 8,8

T z28/7e+09/3
pD -1252+ 0.1
p1 190.4 + 0.0

= -5.25 [ps/ch]
- 55

100

TP delay [ns]

TVC(c,b ch) (1, 8 12

T 2. 900e+09 /3
-1112+ 0.1
p1 181.8+ 0.0

= -5.50I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 8,1)

Ao Jz/e+09/3
-1342+ 0.1
1904+ 0.0

= -5.2&;é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (1, 8

AT 11/e+09/3
-1492+ 0.1
2009+ 0.0

= -4.98 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (1 8,9

Ty, /bée+09/3
-1065% 0.1
1813+ 0.0

= -5.52I [ps/ch]
50

100

TP delay [ns]

TVC(c,b Ch) (1 8 13)

S 4 /::49+09/3
-938.4+ 0.1
1768+UO

<566, [pslon]

100

TP delay [ns]

15000

10000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

5000 [~
o

TVC(cbch) (1 8,2)

Trnun g, 1U49+09/3
-1359+ 0.1
195+ 0.0

= -5.13 [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (1 8,6

“anu 3146409/ 3
pO 1378+ 0.1
p1 1959+ 0.0

= -5.10 [ps/ch]
EY

100
TP delay [ns]

TVC(cbch) (1, 8 10

T 29/9e+09 /3
po 1074+ 0.1
p1 181+ 0.0

= -5.52I [ps/ch]

1
50 100

TP delay [ns]

TVC(C b Ch) (1 8 14

T 2.980e+09 /3
-1290+ 0.1
193.5+ 0.0

= -5.17 [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 8,3)

Trnun g, 1::4e+09/3
-1223+ 0.1
187 8+ 0.0

G4 -5.32 [psich]
- gé 100
TP delay [ns]
TVC(c,b ch) (1 8,7
S g zuze+09/3
-1321£ 0.1
192 4:‘
G4 -5.20 [psich]
5(') 100
TP delay [ns]
TVC(c,b ch) (1 8
S 2 azﬁe+09/3
1140-*_01‘
[ 185 3+ 0.0
‘= -5.40 [ps/ch]
= = 100
TP delay [ns]
TVC(c,b ch) (1 8 15)
S 2 uuze+09/3
-1181+ 0.1
i 155:‘
= -5.32 [ps/ch]
S T
TP delay [ns]



15000

10000

5000

15000

10000

5000~

15000

10000

5000

0

15000

10000

5000 [~

TVC(c,b,ch)=(1, 9
T *

.0)

1nun 5.193e+09 /3

po
p1 197.3+ 0.0

-1389+ 0.1

= -5.07 [ps/ch]

TP d

TVC(c,b,ch)=(1,9

-

100

elay [ns]

4

nur z,r31e+09 /3
po 1149+ 0.1
p1 1835+ 0.0

‘= -5.45 [ps/ch]
- EY

TPd

TVC(c,b,ch)=(1, 9

100

elay [ns]

, 8

Srnar Z2.0e409/3
po 8247+ 0.1
pl 173+ 0.0

= -5.78 [ps/ch]
EY

100

TP delay [ns]

'

TVC(c.b,ch)=( 1, 9,

12

T 2829e+09 /3
po -808.5+ 0.1
p1 1711+ 0.0

= -5.85I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

'

TVC(c,b,ch)=(1,9
T X

1)

T/ z.yove+09 /3
po 1159 + 0.1
p1 1865+ 0.0

= 5.3(;»é [ps/ch]

TP d

TVC(c,b,ch)=(1, 9

100

elay [ns]

. 5)

Sonae Zz2e+09/3
po -1084+ 0.1
p1 1786+ 0.0

‘= -5.60 [ps/ch]
5

TPd

TVC(c,b,ch)=(1, 9

100

elay [ns]

,9)

rnun 2.83e+09 /3

po -954.3+ 0.1
pL 179.8+ 0.0

= -5.56I [ps/ch]
50

100

TP delay [ns]

TVC(c,b.ch)=(1, 9,

13)

rnu Zy1e+09/3

po -808.2+ 0.1
pl 170.8+ 0.0

7 585 psich)

100

TP delay [ns]

T suve+09 /3

TVC(c,b,ch)=(1, 9, 2)
F T )(

PO 1286+ 0.1
[ pL / 1906+ 0.0
15000 E:
10000 ]
5000 L ]
[ G4= -5.25 [ps/ch]
R = £y 100
TP delay [ns]
TVC(c,b,ch)=(1,9,6)
T X- 1 nun 3.093e+09 /3
po 1228+ 0.1
15000} pL / 187.3+ 00
10000 L ]
5000 -— _-
L GA= -5.34 [ps/ch]
R ey 100

TP delay [ns]

TVC(c,b,ch)=(1,9,10)
T X1 3.002e+09 /3
[ po -1089+ 0.1
15000-— pl / 1836+ 0.0
10000 ]
5000 L ]
[ (#= -5.45 [ps/ch]
% = EY 00

TP delay [ns]

TVC(c,b,ch)=(1, 9, 14)
r X1 3.usse+09 /3
[ 0 1147 £ 0,
s/ s
10000 .
s000|- .
[ (A= -5.36 [ps/ch]
[ - E—T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

-

TVC(c,b,ch)=(1, 9, 3)
T A

nur 5.102e+09/3
-1647+ 0.1

po
p1 20853+ 0.0

= -4.8(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(1,9,7)

'

S nu3.045e+09 /3
po -1165+ 0.1
p1 186+ 0.0

= -5.38 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(1, 9,

11)

Tonan2.838e+09 /3

po -587.7+ 0.1
pL 161.1+ 0.0

'~ -6.21 [ps/ch]
= L

50 100
TP delay [ns]
TVC(c,b,ch)=(1, 9, 15)
: X~ 1w 2 gsse+09 /3

po -800.6:+ 0.1
p1 172.8+ 0.0

% 579 pslch)

100

TP delay [ns]



TVC(c,b,ch)=( 1, 10,0)
T A~ 2.430e+09 /3
0 -1160 + 0.
15000~ zl / 1];8621 g_ol
10000~ i
5000 [~ n
‘= -5.32 [ps/ch]
R = £y 100
TP delay [ns]
TVC(c,b,ch)=(1, 10, 4)
T X nun 2.337e+09 / 3
0 - + 0.
15000~ 51 / 1;?529 + 00_01
10000 J
5000 = i
‘= -5.43 [ps/ch]
R = ER 100
TP delay [ns]
TVC(c,b,ch)=(1, 10, 8)
T X1 2530e+09 /3
0 - +0.
5/ amsros
15000 = ]
10000 4
5000 - ]
‘= -4.98 [ps/ch]
% ey 100

TP delay [ns]

1 nun 2. 180e+09 /3

TVC(c,b,ch)=( 1, 10, 12

po -841.4+ 0.1
pl 176.7+ 0.0

15000~
10000~ ]
5000~ E
= -5.66 [ps/ch]
0 B E—

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 1, 10,
T

1)

AT rnunz5r3e+09/ 3

= 5.2::é [ps/ch]

PO 1214+ 0.1
pl 191.2+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=( 1, 10,

“anuai2.4/1e+09/3

5)

= -5.18 [ps/ch]
5

Y -1214+ 0.1
pL 193.1 0.0

100

TP delay [ns]

TVC(c,b,ch)=( 1, 10,

Tona2.3/5e+09/3

9)

po -1117+ 0.1
pl 186.8+ 0.0

= -5.35I [ps/ch]
50

100

TP delay [ns]

Tinunz.zope+09 /3

TVC(c,b,ch)=( 1, 10, 13)

PO -822.4+ 0.1
| pl 179.8+ 0.0

7 556 psich)

100

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 2)
- T N

S Zaze+09/3
[ po / -1048+ 0.1
15000} pl 183.1+ 0.0
10000~ -
5000 - -
L ]
[
-
[ %= -5.46 [ps/ch]
0 = £ T00

TP delay [ns]

TVC(c,b,ch)=( 1, 10,

S rnu2.633e+09/3
-1072+ 0.1
184.4+ 0.0

po
pl

6

15000 :—
10000 -—
5000 L
[ (A= -5.42 [ps/ch]
0 = EY

100

TP delay [ns]

TVC(c,b,ch)=(1, 10, 10

T 2.383e+09 /3
-1135+ 0.1
186.6+ 0.0

po
- pl /
15000
10000 -— —-
so00- ]
[ &A= -5.36 [ps/ch]
% = EY 00

TP delay [ns]

TVC(c,b,ch)=( 1, 10, 14

T z508e+09 /3
-1076+ 0.1
188.7+ 0.0

po
: » /
15000~
10000 L ]
so00|- ]
[ = -5.30 [ps/ch]
1%

TP delay [ns]

TVC(c,b,ch)=( 1, 10,
T

3)

AT rnun 2, 304e+09/ 3

po -969.1% 0.1
15000} pl / 180.8:+ 0.0
10000 i
5000 ]
¢ = -5.53 [ps/ch]
o £ gé 100
TP delay [ns]
TVC(c,b,ch)=(1, 10,7)
T X7 1nun 2.433e+09 /3
Y 1156 + 0.1
p1 / 1903+ 0.0
15000 =
10000 -
5000 -
= -5.26 [ps/ch]
R = % 00
TP delay [ns]

TVC(c,b,ch)=( 1, 10, 11)

rnur zb1e+09/3

po -1370+ 0.1

pl 196.9+ 0.0
15000 - -1
10000~ 1
5000 - -1

= -5.08 [ps/ch]
0 e 100

TP delay [ns]

Tonazus/e+09/3

TVC(c,b,ch)=( 1, 10, 15)

PO 7355+ 0.1
15000} p1 / 173+ 0.0
10000 [ 4
5000 - -
= -5.78 [ps/ch]
o1
TP delay [ns]



TVC(cbch) (1,11,0)

15000

10000

5000

Tonazeo/e+09/3
PO 1347+ 0.1
pl 192.2+ 0.0

= -5.20I [ps/ch]

100

TP delay [ns]

TVC(cbch) (1,11,4

15000

10000

5000 [~

S rnu2.841e+09 /3
pO -1162+ 0.1
pl 185.1+ 0.0

= -5.40 [ps/ch]
= £

100
TP delay [ns]

TVC(ebeh)=(1, 11,8

15000

10000

5000

0

T 2.924e+09 /3
PD -1460+ 0.1
pl 198.1+ 0.0

0

= -5.05 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (1 11,12)

15000

10000

5000 [~
b

T 4 yme+09 /3
-1288+ 0.1
1907+ 0.0

= -5.25I [ps/ch]

100

TP delay [ns]

15000

10000

5000 [~
F

15000

10000

5000

15000

10000

5000

15000

10000

TVC(cbch) (1,11,1)

T nun g,1bve+09 /3
PO -1370+ 0.1
p1 1952+ 0.0

= -5'%5 [ps/ch]

100

TP delay [ns]

TVC(cbch) (1 1,5)

AL L2 3hﬁe+09/3
-1269+ 0.1
190 2+ 0.0

= -5.26 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1, 11

Ty Hlbe+09/3
-1296+ 0.1
1934+ 0.0

= -5.17 [ps/ch]
5

100
TP delay [ns]

TVC(cbch) (1 11,13)

5000 [~

T ¢ u1se+09/3
-1331% 0.1
192+ 0.0
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100

TP delay [ns]

15000

10000

5000

TVC(cbch) (1,11,2)

Tnun g 100e+09/3
PO 1545+ 0.1
pl 204.1+ 0.0

= -4.90 [psich]

100

TP delay [ns]

TVC(cbch) (1,116

15000 -— =
10000 :— —:
5000 -— —:
[ G4 -5.13 [ps/ch]
0 = = 00

15000

10000

5000

0

15000

10000

5000 [~

TP delay [ns]

TVC(eh ch)= (1 11,10)

ALV tsHVe+09/3
-1180+ 0.1
189 3+ 0.0

= -5.28I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,11,14)

Trnan 2. yse+09/3
-1432+ 0.1
Pl 195.8+ 0.0

-5.11 I[ps/ch]

50 100

TP delay [ns]

15000

10000

5000

S rnu 3.015e+09 /3
pO / -1330+ 0.1
1
p 195+ 0.0 15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1,11,3)

Tnunz,yz4e+09/ 3
PO 1168+ 0.1
pl 186.5+ 0.0

= -5.365:)6 [ps/ch]

100

TP delay [ns]

TVC(cbch) (1 1,7)

T2 dd/e+09/3
-1169 £ 0.1
185.1+ 0.0

= -5.40 [ps/ch]
= 5

100
TP delay [ns]

TVC(Ebeh)= (1 1,11)

Tz uuye+09/3
-1251+ 0.1
191 7+0.0

= -5.22 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (1 11,15)

T 4 urre+09/3
-1450+ 0.1
197 9+ 0.0

£ 5,05 [psich]

TP delay [ns]



TVC(cbch) (1 12,0)

ALY 46649+09/3

15000~

10000~

5000 [~

1184 + 0.1
187.8+ 0.0

= -5.32I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (1,124

15000~

10000

5000 =

“ i 2.954e+09 /3
41183+ 0.1
pl 186.1+ 0.0

= -5.37I [ps/ch]

50 100
TP delay [ns]

TVC(c,b, ch) (1, 12

15000

10000 =

5000 =

0

T 2.8o9e+09 /3
PD -1262+ 0.1
pl 189.9+ 0.0

0

= -5.27 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (1,12,12

15000

10000~

5000 [~

Tnu zoy0e+09/3
-1060+ 0.1
P1 181.8+ 0.0

= -5.50I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 12,1)

LA uue+09/3
-1188 + 0.1
186.1+ 0.0

= -5.3Zé [ps/ch]

100

TP delay [ns]

TVC(cbch) (1 12,5)

Ty, Uh/e+09/3
-1168 £ 0.1
186 3% 0.0

= -5.37 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1, 12

Tz /4e+09/3
-888.1+ 0.1
1746+ 0.0

= -5.73 [ps/ch]
5

100

TP delay [ns]

TVC(cbch) (1 12,13)

T 4 /soe+09/3
-1236+ 0.1
lBB 7+0.0
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100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (1 12,2)

ALY zavve+09/3
-1168 + 0.1
186.1+ 0.0

= -5.37I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (1 12,6

S rnu 2.859e+09 /3
-1124+ 0.1
184.5+ 0.0

= -5.42 [ps/ch]
= EY

100
TP delay [ns]

TVC(cbch) (1 12,10)

aal 4tsltse+09/3
K -1119+ 0.1
- 182 6+ 0.0

= -5.48I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,12 14)

Cnar g, ve-rOQ /3
1323+0 1
192 9+ 0.0

= -5.18I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (1 12,3)

AT o 4ubze+09/3
-939.2+ 0.1
- 1764+OD

- -5.6; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1, 12 7)

nur 34 UJ_LE+09/3
-1164+ 0.1
187.1% 0.0

= -5.34 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 12 1)

Tz a4ue+09/3
-926.8+ 0.1
- 178+ 0.0

'~ -5.62 [ps/ch]
gé 100
TP delay [ns]

TVC(cbch) (1 12,15)

T z IHde+09/3
-1137+ 0.1
187.1+ 0.0

%534 psich]

100

TP delay [ns]



15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000 [~

TVC(cbch) (1 13,0)

LAl 541/e+09/3
-1747+ 0.1
209.6+ 0.0

-4.77 [psich]

100

TP delay [ns]

TVC(cbch) (1 13,4

S rnun 2.830e+09 /3

1134+ 0.1
185.1+ 0.0

‘= -5.40 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (1,13,8

Tz, ro4e+09 /3
PD -1066+ 0.1
pl 182.8+ 0.0

= -5.47 [psich]
EY

100

TP delay [ns]

TVC(cbch) (1,13,12

Tnu2,9v4e+09/3
1155+ 0.1
P1 185.8+ 0.0

= -5.38I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (1 13,1)

Ao J 14Je+09/3
-1358+ 0.1
191 6+ 0.0

= -S'Zé [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1 13,5)

RATEE) uze+09/3
-1196 £ 0.1
188 3% 0.0

= -5.31 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (1 13,9

Ty /ybe+09/3
-891.2+ 0.1
1744+ 0.0

= -5.74I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (1 13,13)

T 4 33oe+09/3
-1306+ 0.1
193 2+ 0.0

<518 psich)

100

TP delay [ns]

T suwe+09/3
3 1476+ 0.1
r 2019+ 0.0
15000~
10000 E
5000~ —
L ]
[
-
| A= -4.95 [ps/ch]
0 - 50 T00

15000

10000

5000

15000

10000

5000~

0

15000

10000

TVC(cbch) (1 13,2)

TP delay [ns]

TVC(cbch) (1 13,6

crnu 2872e+09/3
-1190+ 0.1
189.. 1+ 0.0

= -5.29 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (1 13 10

T 2.884e+09 /3
-1097+ 0.1
183.2+ 0.0

= -5.46I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 13, 14

5000~
3

T z9zse+09 /3
-1185+ 0.1
188.4+ 0.0

= -5.31I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (1 13,3)

Tona ause+09/3
-1156 + 0.1
185.1+ 0.0

= -5.4(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1 13,7)

T2 EUQE+09 13
-1231£ 0.1
189 6+ 0.0

= -5.27 [ps/ch]
= 5

100
TP delay [ns]

TVC(eb,ch)= (1 13,11)

AL X Uzme+09/3
-1156 £ 0.1
186+ 0.0

= -5.38 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (1 13,15)

T z u//e+09/3
-1245+ 0.1
lBB 8+ 0.0
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TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (1 14,0)

ALY .subxse+09/3
-1405+ 0.1
197.5+ 0.0

‘= -5.06 [ps/ch]

100

TP delay [ns]

TVC(cbch) (1,144

S 2.529e+09/ 3
1221+ 0.1
pl 185.8+ 0.0

= -5.38 [ps/ch]
= £

100
TP delay [ns]

TVC(ebeh)=(1, 14,8

T 2,045e+09 /3
PD -839.9+ 0.1
B pl 173.6+ 0.0

= -5.76 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (1,14,12)

Tonu 3.04e+09/3
41227+ 0.1
P1 187.9+ 0.0

= -5.32I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000 [~

TVC(cbch) (1 14,1)

Tona JU49+09/3
-1213+ 0.1
1879+ 0.0

= -S'Sé [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1, 14 5)

nur 3 U/e+09/3
-1432+ 0.1
196 3% 0.0

I~ -5.09 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (1, 14

Ty wse+09/3
-1083+ 0.1
184 7+ 0.0

= -5.41I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (1 14,13)

T ¢ U469+09/3
-1309+ 0.1
191 5+ 0.0

£ 522 psich)

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000~

TVC(cbch) (1 14,2)

ALY s.stue+09/3
-1416+ 0.1
198.2+ 0.0

= -5.05 [psich]

100

TP delay [ns]

TVC(cbch) (1 14,6

S rnuz2.981e+09 /3
-1386+ 0.1
194.8+ 0.0

= -5.13 [ps/ch]
£

100
TP delay [ns]

TVC(eb.ch)= (1 14,10

T 2933e+09 /3
-901.3+ 0.1
1752*'00

= -5.71I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 14, 14

T z9z3e+09 /3
-1138+ 0.1
183.5+ 0.0

= -5.45I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (1 14, 3)

AT rnan 4 UU/e+09/3
187 7+ 0.0

-1281+ 0.1

= -5.3:; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1 14,7)

SRRITTIPX 3d4&+09/3
192 3% 0.0

-1284+ 0.1

= -5.20 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (1 14 1)

-909.7+ 0.1

Tz a4::e+09/3
- 175 9+ 0.0

'— -5.69 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (1 14,15)

-1174 + 0.1

T 4 U4de+09/3
186 6+ 0.0
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TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (1 15,0)

ALY 5uzse+09/3
-1469+ 0.1
194.5+ 0.0

=-5.14 [ps/ch]

100

TP delay [ns]

TVC(cbch) (1,154

S 30536409/ 3
1320+ 0.1
pl 191. 9+ 0.0

= -5.21 [ps/ch]
- £

100
TP delay [ns]

TVC(c,b, ch) (1,158

T 3.02/e+09/3
PD -1202+ 0.1
pl 190.2+ 0.0

= -5.26 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (1,15,12

Tnuz,yyse+09/3
-996.7 0.1
P1 178.2+ 0.0

= -5.61I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 7

TVC(cbch) (1 15,1)

Ao 4 wue+09/3
-1509+ 0.1
1994+ 0.0

= -S'Oé [ps/ch]

100

TP delay [ns]

TVC(cbch) (1 15,5)

RATEE) uzhe+09/3
-1309+ 0.1
195 2+ 0.0

= -5.12 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (1 15,9

AL zw/e+09/3
-1188 £ 0.1
1877+ 0.0

= -5.33I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (1 15,13)

T uwue+09/3
-1106 + 0.1
1836+00
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100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

0

15000

10000

5000

TVC(cbch) (1 15,2)

AT 1nw 64U:)e+09/3
-1590+ 0.1
2045+ 0.0

-4.89 [psich]

100

TP delay [ns]

TVC(cbch) (1 15,6

T Z88e+09 /3
-816.7+ 0.1
168.8+ 0.0

= -5.93 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (1 15 10

5000 [~
=

T 3.213e+09 /3
-1368+ 0.1
196.1+ 0.0

= -5.10I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1 15, 14

T z812e+09/3
-967.9+ 0.1
179.9+ 0.0

= -5.56I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (1 15,3)

AL J Ule+09/3
-1363+ 0.1
193 3% 0.0

= -5.1; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (1, 15 7)

na dUbE+09/3
-1037+ 0.1
182 8+ 0.0

= -5.47 [ps/ch]
= %

100
TP delay [ns]

TVC(e b ch)= (1 15,11)

AL X U4Je+09/3
-1139+£ 0.1
188+ 0.0

= -5.32 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (1 15,15)

T z u:me+09/3
-1061% 0.1
184+ 0.0

S 5 44lpsich]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (2 0,0)

ALY .suwe+09/3
-1541+ 0.1
198.3+ 0.0

= -5.04I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 0,4

S rnun2.by1e+09/3
pO -1051+ 0.1
L pl 182+ 0.0

‘= -5.50 [ps/ch]
= Eg

100
TP delay [ns]

TVC(c,b ch) (2 0,8

Tz use+09 /3
PD -1044+ 0.1
- pl 181 0.0

‘= -5.52 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (2,0,12

Tana Zre+09/3
-962.7+ 0.1
P1 176.9+ 0.0

= -5.65 [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

20000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 0,1)

Tona J uuze+09/3
-1401% 0.1
195 4+ 0.0

= -5'%5 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 0,5

AL L2 Hjbe+09/3
-906.7+ 0.1
177.1% 0.0

'~ -5.65 [ps/ch]
= %

100
TP delay [ns]

TVCebeh)=(2, p

rnany 4£be+09 13
-1757+ 0.1
215+ 0.0

= -4.65 [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (2 0,13)

T 4 /sse+09/3
-1211+ 0.1
189 3+ 0.0

<528 psich)

100

TP delay [ns]

TVC(cbch) (2 0,2)

ALY zaorse+09/3
-1202+ 0.1
183.7+ 0.0

15000 -—
10000 -— _-
5000 -— —:
[ &= -5.44 [ps/ch]
R = 5(') 100
TP delay [ns]
TVC(c,b ch) (2 0,6)
S rnu 2.829e+09 /3
b0 +
15000 -— zl / 1:15?)?29 + oo.o1
10000 -— _-
5000 -— _-
[ (%= -5.55 [ps/ch]
R = 5(I) 100

TP delay [ns]

TVC(e.b.ch)= (2 0,10

20000

15000

10000

5000

0

Trnu254/e+09/3
- 2275+ 0.1
[ 232.9+ 0.0

= -4.29 [psich]

50 100

TP delay [ns]

TVC(cbch) (2 0,14

T 2,9o9e+09 /3

15000

10000

5000

-1104 + 0.1
187.2+ 0.0

= -5.34I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 0,3)

Tnan g u¢4e+09/3
-1295+ 0.1
195 5+ 0.0

= -5.1?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 0,7

AL zbbhe+09/3
-914.5+ 0.1
1779+ 0.0

= -5.62 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (2 O

AL X UUbe+09/3
-1171+ 0.1
186 9+ 0.0

= -5.35 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (2 0,15)

T z u:de+09/3
-1067+ 0.1
185+ 0.0

CoaLipsin

TP delay [ns]



20000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

1 1 144e+09 / 2

TVC(c,b,ch)=(2,1,0)
T r

po
pL

-1711+ 0.1
220+ 0.0

-4.55 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2, 1, 4

S rnu 2.963e+09 /3
po 1123+ 0.1
p1 184.9+ 0.0

‘= -5.41 [ps/ch]
= =%

100
TP delay [ns]

TVC(c,b,ch)=(2, 1, 8

T 2.889e+09 /3
po -1310+ 0.1
pl 192.7+ 0.0

= -5.19 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=( 2, 1, 12

T 28/3e+09/3
po 9723+ 0.1
p1 179.6 + 0.0

= -5.57I [ps/ch]

TP delay [ns]

20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(2,1,1)
T A

T 1103e+09 /2

T s142e+09/3

TVC(c,b,ch)=(2,1,2)
T X

- 0 - + 0.
n/ e
G4 -4.63 [ps/ch]
g'o' 100
TP delay [ns]

TVC(c,b,ch)=(2,1,5)

= -5.15 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(2,1,9)

1 2.924e+09 /3

po -1219+ 0.1
pl 188.9+ 0.0

“nun 3.u63e+09 /3
po 1277+ 0.1
p1 194.2+ 0.0

= -5.29I [ps/ch]
50

100

TP delay [ns]

Tonu3151e+09/3

TVC(c,b,ch)=( 2, 1, 13)

po 1414+ 0.1
pl 200.7+ 0.0

S 498 [psich

TP delay [ns]

PO -1687+ 0.1
pl / 210.7+ 0.0
15000 ]
10000 ]
5000 -— _'
[ G£ -4.75 [ps/ch]
R £y 100
TP delay [ns]
TVC(c,b,ch)=(2,1,6)
T X1 2.8aye+09 / 3
[ po 1162+ 0.1
150001 pL / 185.4+ 0.0
10000 L ]
5000 L ]
L &A= -5.39 [ps/ch]
R = ey 100

TP delay [ns]

TVC(c,b,ch)=( 2, 1, 10

- At 4.ts)u:>e+09/3

L po -973.1£ 0.1
15000 = pl 177.1+ 0.0
10000 -1

5000~ N
L ]
r-
-
[ &= -5.65 [ps/ch]
0, F_l 1 1
0 50 100

TP delay [ns]

TVC(c,b,ch)=(2, 1, 14

“rnu s.a)soe+09 /3
po / -1071% 0.1
L pl 184.7+ 0.0
15000~
10000~ 7
5000 - ]
L ]
[
-
[ G4= -5.41 [ps/ch]
. M Rl
0 = 50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(2, 1, 3)
; A1 suze+09/3
0 - +0..
it
G4 -4.89 [psich]
gé 100
TP delay [ns]

TVC(c,b,ch)=(2,1,7)

Cnu2ys/e+09/3
po 1184+ 0.1
p1 1883+ 0.0

= -5.31 [ps/ch]
o

100
TP delay [ns]

TVC(c,b,ch)=(2, 1,11)

Tonan2.829e+09/ 3

po -1160 + 0.1
pL 186.4+ 0.0

= -5.36 [ps/ch
ﬁ[p ]

100

TP delay [ns]

Tonuanz.9z3e+09/3

TVC(c,b,ch)=( 2,1, 15)

po -1188+ 0.1
pl 187.4+ 0.0

C 534bsin)

TP delay [ns]



T z904e+09 /3

TVC(c,b,ch)=(2,2,0)
T X

po -1146 + 0.1
pL 183+ 0.0

15000~
10000~ 7
5000 - ]
= -5.46 [ps/ch]
0 £ = 100
TP delay [ns]
TVC(c,b,ch)=(2,2,4)
: X nun 2.929e+09 / 3
0 -1305+ 0.
vt
10000~ 7
5000 [~ T
= -5.36 [ps/ch]
0 = 100
TP delay [ns]
TVC(c,b,ch)=(2, 2, 8)
T X1 2899e+09 /3
0 1222+ 0.
zl / 1:231 (?.01
15000
10000~ ]
5000 [~ 7
= -5.28 [ps/ch]
05 = = 100
TP delay [ns]
TVC(c,b,ch)=( 2, 2, 12)
r A1 2 9use+09 /3
0 -1340+ 0.
n/ imeies
15000~ T
10000~ 7]
5000 [~ 7]
= -5.19 [ps/ch]
0, _—

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

T 2sy1e+09 /3

TVC(c,b,ch)=(2,2,1)
T A

po -1351+ 0.1
pL 196.8:+ 0.0

I~ -5.0?é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2,2,5)

“nur3.0u1e+09 /3

po 1432 0.1
p1 1986 0.0

= -5.04 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(2,2,9)

1nun 2.pobe+09 /3

po 1124+ 0.1
pL 187+ 0.0

= -5.35I [ps/ch]
50

100

TP delay [ns]

Tonanz./83e+09/3

TVC(c,b,ch)=( 2, 2, 13)

po 1227+ 0.1
pl 188.5+ 0.0

S 53Lbs

TP delay [ns]

T 29s1e+09 /3

15000

10000

5000

TVC(c,b,ch)=(2,2,2)
T X

po 1367+ 0.1
pL 193.2:+ 0.0

= -5.18 [ps/ch]

1
50 100

TP delay [ns]

TVC(c.b,ch)=(2, 2, 6

15000

10000

5000 [~
o

- rnu 3.0u8e+09 /3
po 1449+ 0.1
p1 1964+ 0.0

-5.09 [ps/ch]
EY

100
TP delay [ns]

TVC(c,b,ch)=(2, 2, 10

15000

Sinu Zoe+09/3
po -1089+ 0.1
pL 184.1% 0.0

10000 :— _:
5000 L '
[ (A= -5.43 [ps/ch]
0 = 5(') 10'0

TP delay [ns]

15000

10000

5000 [~

TVC(c,b,ch)=(2, 2, 14

T z9z9e+09 /3
po 1323+ 0.1
p1 192.6+ 0.0

= -5.19 [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

T gaze+09/3

TVC(c,b,ch)=( 2,2, 3)
T A

po 1577+ 0.1
pL 202.3+ 0.0

= -4.945}é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(2,2,7)

“nu Z2.9yge+09 /3

po -1554+ 0.1
p1 202.8+ 0.0

= -4.93 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(2, 2,11)

Tonan2.810e+09/ 3

po -10781 0.1
pL 184.2+ 0.0

= -5.43 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tinun 2.800e+09 /3

TVC(c,b,ch)=( 2, 2, 15)

po 1243+ 0.1
pl 191.9+ 0.0

S 521bs

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (2 3,0)

ALY L‘JU49+09/3
-1368+ 0.1
193.9+ 0.0

= -5.16I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 3,4

S rnan 2.933e+09 /3
pO 1325+ 0.1
pl 192.1+ 0.0

= -5.21 [ps/ch]
- EY

100
TP delay [ns]

TVC(c,b ch) (2 3,8

T 2.8/4e+09 /3
PD -1336+ 0.1
pl 192.7+ 0.0

= -5.19 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (2,312

Tonu2532e+09/3
-920.9+ 0.1
P1 176.1% 0.0

= -5.68I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~
b

15000

10000

5000 7

TVC(cbch) (2 3,1)

Trnang azse+09/3
-1257+ 0.1
1878+ 0.0

= -S'Sé [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 3,5

AL L2 HJBE+09/3
-1109 £ 0.1
182 7% 0.0

= -5.47 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (2 3,9

Ty /zze+09/3
-1401% 0.1
196 5+ 0.0

= -5.09I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (2 3,13)

T zuwe+0913
-929.3+ 0.1
177+ 0.0

£ 565 sl

100

TP delay [ns]

15000
10000

5000~

15000
10000

5000 [~

15000
10000

5000

0

15000
10000

5000 [~

TVC(cbch) (2 3,2)

ALY suae+09/3
-1240+ 0.1
189.1+ 0.0

= -5.29I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (2 3,6

S a2 885e+09 /3
pO 41142+ 0.1
pl 184+ 0.0

‘= -5.44 [ps/ch]
= EY

100
TP delay [ns]

TVC(cbch) (2 3,10

S 4tsue+09/3
-1153 £ 0.1
186+ 0.0

= -5.38I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (2 3,14)

T 4 awe+09 /3
-1009+ 0.1
179 2+ 0.0

- -5.58I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 3,3)

Tona dUU:ve+09/3
-1145+ 0.1
1865+ 0.0

= -5.365:)6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2, 3

1 z yoe+09 /3
-1015+ 0.1
179.1% 0.0

= -5.58 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (2 3

Tz, /yae+09/3
-997.4% 0.1
177B+ 0.0

= -5.63 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (2, 3 15)

o 4 yse+0913
-1224+ 0.1
190 9+ 0.0

5 240psien]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (2 4,0)

ALY L‘J:)J.e+09/3
-1088+ 0.1
184.6+ 0.0

= -5.42I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 4,4

- rnun 3.010e+09 /3
pO 1237+ 0.1
pl 190+ 0.0

= -5.26 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (2 4,8

T 3.0z0e+09 /3
PD -1557+ 0.1
pl 200.9+ 0.0

= -4.98 [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (2,4,12

Tnun2524e+09/3
-978.4+ 0.1
P1 180.5+ 0.0

= -5.54I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000
b

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 4,1)

Trnang 3/69+09/3
-1060+ 0.1
1818+ 0.0

= -5.5(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 4,5

Ty, u415+09/3
-1241£ 0.1
189 7+ 0.0

= -5.27 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (2, 4

rnany ::/ye+09/3
-1350% 0.1
1939+ 0.0

= -5.16 [ps/ch]
5

100

TP delay [ns]

TVC(C, bch) (2 4,13)

T 4 u/ze+09/3
-1044+ 0.1
lBO 7+0.0

2553 sl

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000

10000

0

15000
10000

5000

TVC(cbch) (2 4,2)

LAl 4\.7:719+09/3
-1185+ 0.1
1879+00

= -5.32I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (2 4,6

S rnuz29g/e+09/3
pO 41243+ 0.1
pl 187.6:+ 0.0

‘= -5.33 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (2, 4 10

5000 [~
P

ELE - uae+09 /3
-1367+ 0.1
1954+ 0.0

= -5.12I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (2 4,14)

T 4 aaue+09 /3
-1012+ 0.1
179 7+ 0.0

- -5.56I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 4,3)

Tnun g :m/e+09/3
-1319+ 0.1
195 3% 0.0

= -5.1?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2, 4

1 z yse+09 /3
-1347+ 0.1
195+ 0.0

= -5.13 [ps/ch]
- 5

100
TP delay [ns]

TVC(cbch) (2 4 11

S dUJ_le+0913
-1387+ 0.1
195 2+ 0.0

= -5.12 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (2 4,15)

T 4334e+0913
-965.2+ 0.1
1782+ 0.0

2561 sl

100

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

10000

5000

TVC(cbch) (2 5,0)

ALY uuAe+09/3
-1094+ 0.1
182.8+ 0.0

=-5.47 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 54

- rnun 2.9yee+09 /3
pO 1253+ 0.1
pl 188+ 0.0

= -5.32I [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (2 5,8

“nu 2508e+09 /3
pO -860.9+ 0.1
B pl 174+ 0.0

= -5.75 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (2,5,12

TonuLsyre+09/3
-614.7+ 0.1
P1 149.6 + 0.0

- -6.68 [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 5,1)

Trnang aube+09/3
-1210+ 0.1
1893+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 55

AT yue+09/3
-1419+ 0.1
196 3% 0.0

= -5.10 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (2, 5

rnany Jlle+09/3
-974.2+ 0.1
179+ 0.0

- -5.59I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (2 5,13)

T 4 Idle+09/3
-820.6+ 0.1
1737+00

G576 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (2 5,2)

ALY sume+09/3
-1411+ 0.1
1995+ 0.0

= -5.01 [psich]

100

TP delay [ns]

TVC(c,b ch) (2 56

- rnun 3.208e+09 /3
pO 41228+ 0.1
pl 1885+ 0.0

‘= -5.30 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (2 5,10

Tonanz, 144e+09/3
-1196 £ 0.1
192 6+ 0.0

= -5.19I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (2 5,14)

T 4 6:::)e+09 /3
-1009+ 0.1
181 2+ 0.0

= -5.52I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (2 5,3)

AT o ause+09/3
-1344+ 0.1
195 3% 0.0

= -5.1?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (2 57

a2 :4'::4&+09 13
-1181+ 0.1
186 8+ 0.0

‘= -5.35 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (2 5

Tz awe+09/3
-1115+ 0.1
190 8+ 0.0

= -5.24 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (2 5,15)

T zs:ne+09/3
-952.3+ 0.1
1782+ 0.0

S 56Lbsen

TP delay [ns]



15000

10000

TVC(cbch) (2 6,0)

5000~

15000

10000

5000

15000

10000

5000

0

15000
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100
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= -5.30I [ps/ch]

1
50 100

TP delay [ns]

TVC(C b Ch) (2 10 14

T 3.0use+09 /3
-1310+ 0.1
196.1+ 0.0
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TVC(c,b,ch)=(3, 2, 14

Tinu294/e+09/3
PO -1069+ 0.1
pl 181.8+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 2, 3)
T A

i S/ e+09 /3
PO 1322+ 0.1
pl 189.9+ 0.0

G4 -5.27 [psich]
gé 100
TP delay [ns]
TVC(c,b,ch)=(3,2,7)
T XTrnur 3.19e+09/3
L ST / ;ﬁg‘
‘= -5.43 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(3,2,11)
T A7 rnun 3.093e+09 /3
0 - £0.
n/ e
G4 -5.18 [ps/ch]
- gé 100
TP delay [ns]
TVC(c,b,ch)=(3, 2,15)
T A1 2839e+09 /3
i n/ s
‘= -5.52 [ps/ch]
£t gé * * — 100
TP delay [ns]



15000

10000

5000~

15000

10000

5000

15000

10000

5000 [~

0

15000

10000

5000 [~

TVC(cbch) (3 3,0)

LERL2 /aoe+09/3
-1196 + 0.1
183.8+ 0.0

=-5.44 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 3,4

S rnu Zb8/e+09/3
pO 7815+ 0.1
pl 168+ 0.0

= -5.95 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (3 3,8

T Zpoze+09 /3
PD -1037+ 0.1
pl 178+ 0.0

= -5.62 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (3,312

Tinun2.540e+09/3
-1180 £ 0.1
P1 184.5+ 0.0

- -5.42I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

TVC(cbch) (3 3,1)

Tona J Uble+09/3
-1383+ 0.1
197 6+ 0.0

= -5.065_3é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 3,5

Ty, Ul/e+09/3
-1157 £ 0.1
186 6+ 0.0

= -5.36 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3, 3

7 zysbe+09/3
-859.4% 0.1
1734‘* 0.0

= -5.77 [psich]
5

100

TP delay [ns]

TVC(C, bch) (3 3,13)

T 4 3U19+09/3
-1301£ 0.1
194 5+ 0.0

514 psich)

100

TP delay [ns]

15000
10000

5000

15000

10000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (3 3,2)

ALY 454:79+09/3
-1239+ 0.1
187.8+ 0.0

= -5.32I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (3 3,6

5000 [~
P

S rnun 2.834e+09 /3
pO -1124+ 0.1
pl 188.1+ 0.0

= -5.32I [ps/ch]

50 100
TP delay [ns]

TVC(cbch) (3 3 10

T z9uze+09 /3
-1055+ 0.1
180.9+ 0.0

= -5.53I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 3,14

T z.9u4e+09 /3
-1297+ 0.1
192.8+ 0.0

= -5.19I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 3,3)

Tornan g, ube+09/3
-692.4+ 0.1
1608+ 0.0

= -6.22 [ps/ch]
= g

100

TP delay [ns]

TVC(c,b ch) (3 3,7

s zdzbe+09/3
-821.3+ 0.1
1705+ 0.0

= -5.87 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (3 3

Tz au/e+09/3
-1162 £ 0.1
184+ 0.0

= -5.44 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (3 3,15)

T 4 U43e+09/3
-1243+ 0.1
190 8+ 0.0

£ 524 0pslch)

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (3 4,0)

ALY uuse+09/3
-1271+ 0.1
191. 2+ 0.0

= -5.23I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 4,4

S rna 2.821e+09 /3
pO 1257+ 0.1
pl 190.7:+ 0.0

= -5.24 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (3 4,8

T 2.559e+09 /3
PD -872.5+ 0.1
B pl 173.6+ 0.0

= -5.76 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (3,4,12

Tonuz501e+09/3
1199 £ 0.1
P1 186.5+ 0.0

= -5.36I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 4,1)

Tona J ume+09/3
-1428+ 0.1
1989+ 0.0

= -5.0::é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 4,5

AT uzye+09/3
-1304+ 0.1
192+ 0.0

= -5.21 [ps/ch]
- %

100
TP delay [ns]

TVC(c,b ch) (3, fl

7 uu:;e+09/3
-778.8+ 0.1
1707+ 0.0

- -5.86I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (3 4,13)

T 4 3oue+09/3
-1266+ 0.1
187 2+ 0.0

<534 psich)

100

TP delay [ns]

15000
10000

5000~

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (3 4,2)

LAl 43aue+09/3
-1189+ 0.1
188.5+ 0.0

= -5.31I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (3 4,6

- rnun 3.000e+09 /3
pO 41424+ 0.1
pl 200.3+ 0.0

= -4.99 [psich]
50

100
TP delay [ns]

TVC(cbch) (3 4,10

T 2.891e+09 /3
-1147 £ 0.1
186.1+ 0.0

= -5.37I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 4,14

T 2.834e+09 /3
-1351% 0.1
194.4+ 0.0

= -5.14I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 4,3)

Tona 4 3::De+09/3
-1395+ 0.1
197+ 0.0

= -5.0?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 4,7

Srnuan 2 dyye+09/3
-1278+ 0.1
192 7% 0.0

= -5.19 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3, {1

LRI 2 me+09/3
-916.1+ 0.1
1774+ 0.0

'— -5.64 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (3 4,15)

T zu¢4e+0913
-1162 + 0.1
1867+ 0.0

<538 psich]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 =

0

15000

10000

5000 [~

1nu5.103e+09 /3

TVC(c,b,ch)=(3,5,0)
T r

po 1234+ 0.1
pL 190.2:+ 0.0

= -5.26I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3, 5, 4

-1 2 ryse+09 /3
po 1117+ 0.1
pL 184+ 0.0

= -5.43 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=(3,5, 8

.8)
Tz z9e+09 /3
PO 1002+ 0.1
[ p1 181.9+ 0.0

= -5.50 [ps/ch]
= EY

100

TP delay [ns]

TVC(c,b,ch)=( 3,5, 12

T s1/e+09/3
PO 1215+ 0.1
p1 191.1+ 0.0

= -5.23I [ps/ch]

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000 7

15000

10000

5000 -

TVC(c,b,ch)=(3,5,1)
T A

= 5.145_1é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,5,5)

- Zyave+09 /3
po -1273£ 0.1
pL 1945+ 0.0

“nun 2. 802e+09 /3
po 1067+ 0.1
pl 182.7+ 0.0

‘= -5.47 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(3,5,9)

1 2. 889e+09 /3

po -1006+ 0.1
[ pl 182.4+ 0.0

-

= -5.48I [ps/ch]
50

100

TP delay [ns]

Tina2.933e+09/3

TVC(c,b,ch)=(3, 5, 13)

po -1388+ 0.1
pl 196.1+ 0.0

51005

TP delay [ns]

T z9aze+09/3

15000

10000

5000

TVC(c,b,ch)=(3, 5, 2)
T X

po 1220+ 0.1
pL 190.8:+ 0.0

= -5.24I [ps/ch]

50 100

TP delay [ns]

TVC(c,b,ch)=(3,5, 6

15000

10000

5000~

T a2 889e+09 /3
po 9833+ 0.1
p1 1815+ 0.0

‘= -5.51 [ps/ch]
= EY

100
TP delay [ns]

TVC(c,b,ch)=(3, 5, 10

15000

10000

5000 [~

0

T 2933e+09 /3
po 41024+ 0.1
p1 182.7+ 0.0

= -5.47 [ps/ch]

L 1
50 100

TP delay [ns]

15000

10000

5000

O 5.02 psich]

TVC(c,b,ch)=(3, 5, 14

T z903e+09 /3
po 1386+ 0.1
p1 199.1+ 0.0

| L
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 5, 3)
T A

- Zyu4e+09 /3
po -1266+ 0.1
pL 193.4£ 0.0

= -5.1; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,5,7)

- nun 2.8ove+09 /3
po -1013+ 0.1
p1 1826+ 0.0

'~ -5.48 [ps/ch]
= o

100
TP delay [ns]

TVC(c,b,ch)=(3,5,11)

Tona28/8e+09/3

po -978.8+ 0.1
pL 180+ 0.0

= -5.55 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

Tinaz9s/e+09/3

TVC(c,b,ch)=(3, 5, 15)

po -1300+ 0.1
pl 194.1+ 0.0

A 515 lpsch

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~
b

15000

10000

5000

0

15000

10000

5000~
b

TVC(cbch) (3 6,0)

'f'uwz/xse+09/3
-960.2+ 0.1
182.6+ 0.0

= -5.48I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 6,4

S rnan2.432e+09/3
pO 1226+ 0.1
pl 189.2:+ 0.0

= -5.29 [ps/ch]
- £

100
TP delay [ns]

TVC(c,b ch) (3 6,8

T 2.353e+09 /3
PD -1206+ 0.1
pl 190.2+ 0.0

= -5.26 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (3,6,12

Tonuz2.3r9e+09/3
-965.2% 0.1
P1 181.4+ 0.0

= -5.51I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

TVC(cbch) (3 6,1)

AT rnan 44:uoe+09/3
-907 £ 0.1
- 1786+OO

= -5.6(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 6,5

Sl um/e+09/3
-1287+ 0.1
192 7% 0.0

= -5.19 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (3, 6

7 uwse+09/3
-1048+ 0.1
1834+ 0.0

= -5.45I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (3, c 13)

o 4 sze+09/3
-1091+ 0.1
185 9+ 0.0

538 psich)

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000 [~

0

15000
10000

5000

TVC(cbch) (3 6,2)

ALY 45:719+09/3
-1037+ 0.1
184.8+ 0.0

= -5.41I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (3 6, 6

S rnun 2.538e+09 /3
pO 41242+ 0.1
pl 193.3+ 0.0

‘= -5.17 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (3 6 10

T 2.352e+09 /3
-1014+ 0.1
183.4+ 0.0

= -5.45I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 6,14

T z471e+09/3
-1235+ 0.1
1935+ 0.0

= -5.17I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3 6,3)

AT rnan 4auue+09/3
-933.3+ 0.1
1794+ 0.0

= -5.5; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 6,7

s 2. 4dde+09 13
-1361+ 0.1
198 2+ 0.0

‘= -5.05 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (3 6

Sl zq/ze+09/3
-1193+ 0.1
1914+ 0.0

‘= -5.23 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (3 6,15)

T z n:/e+09/3
-1055+ 0.1
185 5+ 0.0

C5390psich)

TP delay [ns]



rnue s.uve+09/3

TVC(c,b,ch)=(3,7,0)
T *

0 - +0.
15000 zl / ;2.550 + g.ol
10000~ _
5000~ _
= -5.57 [ps/ch]
0 £ 51') 100
TP delay [ns]
TVC(c,b,ch)=(3,7,4) -
T X7 3.048e+09 /3
PO -1201+ 0.1
15000k pl / 187.9+ 0.0
10000~ -1
5000 - -
= -5.32 [ps/ch]
o = =% T00
TP delay [ns]
TVC(eh.oh)=(3,7,8)
T K™ rnun 3 143e+H
po 1409+ 0.1
pl / 1955+ 0.0
15000 - =
10000~ -
5000 [ _
G4 -5.12 [ps/ch]
% £ 00
TP delay [ns]
TVC(c,b,ch)=(3,7,12)
T X~ 1wz 9yoe+09 / 3
0 - +0.
n /e
10000~ _
5000 - R
= -5.36 [ps/ch]
O —E 5(') —t— 100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 7

TVC(c,b,ch)=(3,7,1)
T A

T 2y51e+09 /3
po -1127+ 0.1
p1 1805+ 0.0

(- 5.545_1é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,7,5)

“nun3158e+09 /3
po -1080+ 0.1
pl 182.9+ 0.0

= -5.47 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(3,7,9)

a2, 890e+09 /3

po -1082+ 0.1
pl 180.5+ 0.0

= -5.54I [ps/ch]
50

100

TP delay [ns]

rnu 5.011e+09/ 3

TVC(c,b,ch)=(3,7,13)

po 1123+ 0.1
pl 183.8+ 0.0

-

54 lpsien]

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

T 5.u40e+09 /3

TVC(c,b,ch)=(3,7,2)
T A

po -1306+ 0.1
pL 192.9:+ 0.0

= -5.19 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3,7,6

- 29 /4e+09 /3
po -1151+ 0.1
p1 186.4+ 0.0

= -5.36 [ps/ch]
= =5

100
TP delay [ns]

TVC(c,b,ch)=(3, 7, 10

T 3.004e+09 /3
-1305+ 0.1
192+ 0.0

‘= -5.21 [ps/ch]

- 1 L
50 100

TP delay [ns]

[ = -5.32 [ps/ch]

TVC(c,b,ch)=(3, 7, 14

T z9uve+09 /3
po -1191# 0.1
p1 188+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 7, 3)
T A

T s12e+09/3
po 1106+ 0.1
p1 183.3+ 0.0

= -5.4?6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3,7,7)

S nu3.uz3e+09/3
po -1185+ 0.1
p1 186.8+ 0.0

= -5.35 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(3,7,11)

Tonun3.1bbe+09 /3

po -1350+ 0.1
pL 192.8+ 0.0

—=-5.19 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tona 3.033e+09 /3

TVC(c,b,ch)=(3,7,15)

po 1235+ 0.1
pl 190.9+ 0.0

Z524lsin)

TP delay [ns]



15000

10000

5000

T s.uo1e+09/3

TVC(c,b,ch)=(3, 8,0)
T X

-1519+ 0.1

po
p1 199.6+ 0.0

= -5.01 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 4

15000

S a2 bbbe+09 /3
po -1003+ 0.1
p1 177.1% 0.0

10000 7]
5000 | 7
‘= -5.65 [ps/ch]
0 £ = 100
TP delay [ns]
TVC(c,b,ch)=(3, 8, 8)
; X~ 1z ysze+09 / 3
0 -1568:+ 0.
n/ fﬁfﬂ
15000~ 7
10000 7]
5000 [~ 7]
G4 -4.90 [ps/ch]
05 = 00
TP delay [ns]
TVC(c,b,ch)=(3, 8, 12)
, X1z r31e+09 /3
0 12224 0.
15000} zl / 11282921;‘
10000 7]
5000~ ]
= -5.29 [ps/ch]
[ - Em——

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

TVC(c,b,ch)=(3,8,1)
T A

po
pL

= 52?@ [ps/ch]

T zyo1e+09 /3
-1257+ 0.1
191.6+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(3, 8,

5)

Tnun2825e+09 /3

po
pl

-1135+ 0.1
185.7+ 0.0

‘= -5.38 [ps/ch]
= E

100

TP delay [ns]

TVC(c,b,ch)=(3,8,9)

s zyze+09/3
po 1363+ 0.1
p1 / 194.2+ 0.0
= -5.15 [ps/ch]
56 100
TP delay [ns]

TVC(c,b,ch)=( 3, 8, 13)

T 2.5yze+09 /3
po 1110 0.1
[ p1/ 183.7+ 0.0
= -5.44 [ps/ch]
- T
TP delay [ns]

TVC(c,b,ch)=(3, 8,2)
F T r

T 2973e+09/3

PO -1280+ 0.1
[ pl / 190.1+ 0.0
15000~ =
10000 ]
so00|- ]
[ G4~ -5.26 [ps/ch]
o = 51'3 100
TP delay [ns]
TVC(c,b,ch)=(3, 8, 6)
T X~ 1 2 a9e+09 / 3
po -1095+ 0.1
150001 p / 184.2+ 00
10000 -— _-
5000 -— _-
[ (#= -5.43 [ps/ch]
R = ER 100

TP delay [ns]

TVC(c,b,ch)=( 3, 8, 10

T 3.0L/e+09/3
-1441% 0.1
198.2+ 0.0

po
: v/
15000~ 7]
10000 .
so00- .
| = -5.04 [ps/ch]
05 50 100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 14

T z80/e+09/3
-1295+ 0.1
194.2+ 0.0

: n/
15000~
10000:— '
5000-— _-
e ‘= -5.15 [ps/ch]
[ - EE——T

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(3, 8,
T A

3)

“rnun 5104e+09 /3

po
pL

-1504+ 0.1
200.1+ 0.0

= -5.0(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(3, 8,

7)

S rnuz2y18e+09 /3
-1275+ 0.1
192.1+ 0.0

po
pl

= -5.21 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(3, 8,

11

)

Tonanz./10e+09/3

pO
pl

-1509+ 0.1
203.3+ 0.0

= -4.92 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(c,b,ch)=(3, 8, 15)

T z.3re+09/3
po 1115+ 0.1
p1/185.5t0.0
= -5.39 [ps/ch]
Y S S E S S
50 00
TP delay [ns]



TVC(cbch) (3 9,0)

15000

10000

5000

LAl Lbbﬁe+09/3
-1197+ 0.1
187.4+ 0.0

= -5.34I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 9,4

5000 [~

- rnan3.0u1e+09 /3
pO -975.6+ 0.1
15000~ pl 178.1% 0.0

10000 [~

‘= -5.61 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (3 9,8

15000 =

10000 -

5000 [~

Tz 043e+09 /3
PD -905.3+ 0.1
pl 170.8+ 0.0

‘= -5.85 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (3,9,12

15000 f~

10000 =

5000 [~
b

Tonun 3.uoze+09/3
-1248+ 0.1
P1 190.3+ 0.0

= -5.25I [ps/ch]

100

TP delay [ns]

TVC(cbch) (3 9,1)

15000 -

10000~

5000 [~

Trnang :u/e+09/3
-1213+ 0.1
188 5+ 0.0

= -5.3(5_)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 9,5

15000~

10000 =

5000 -

AL L2 3/ze+09/3
-1257+ 0.1
191. 1+ 0.0

= -5.23 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (3, 9

15000 -

10000 [~

5000 7

rnany mae+09/3
-1192 £ 0.1
188 5+ 0.0

= -S.SQ [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (3 9,13)

15000 [~

10000 [~

5000 [~
b

T ¢ UUJe+09/3
-1286+ 0.1
190 7+0.0

<524 psich)

100

TP delay [ns]

TVC(cbch) (3 9,2)

15000~
10000~

5000~

ALY 43aue+09/3
-1170+ 0.1
1884+ 0.0

= -5.31I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (3 9,6

15000~

10000

5000 [~
P

- rnu 2.99se+09 /3
pO 1200+ 0.1
pl 188.9:+ 0.0

‘= -5.29 [ps/ch]
= S(I) 100
TP delay [ns]

TVC(cbch) (3, 9 10

15000~
10000 -

5000 [~

0

L Atsde+09/3
-953.9% 0.1
1802+00

- -5.55I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3 9,14)

R s 101e+09 /3
1443 0.1
[ 195 9:00
15000}
100001 -
5000 | -
9 ]
[
-
P & 510 [psich]
0 50 T00

TP delay [ns]

15000

10000

5000

TVC(cbch) (3 9,3)

Tnun g :wue+09/3
-1041+ 0.1
- 182 3% 0.0

- -5.4?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (3 9,7

15000

10000

5000 -

AL A 33be+09/3
-1009+ 0.1
- 181 2+ 0.0

= -5.52 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (3 9

15000

10000 -

5000
P

Tz w::e+09/3
-1202+ 0.1
189+ 0.0

= -5.29 [ps/ch]
= gé 100

TP delay [ns]

TVC(C, bch) (3 9,15)

15000 =

10000 -

5000 =
b

T 4 J.U4e+09/3
-1278+ 0.1
191+ 0.0

S 524 psich)

100

TP delay [ns]



15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (3 10,0)

ALY L‘JOAS+09/3
-1403+ 0.1
196+ 0.0

-5.10I [ps/ch]

100

TP delay [ns]

TVC(cbch) (3,104

“ i 3.082e+09 /3
1335+ 0.1
pl 1914 s+ 0.0

= -5.22 [ps/ch]
£

100
TP delay [ns]

TVC(c,b, ch) (3, 10

T z.54/e+09/3
PD -1110+ 0.1
pl 180.9+ 0.0

= -5.53 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (310,12

Tnun 2 /poe+09/3
999+ 0.1
P1 180.6 + 0.0

= -5.54I [ps/ch]

100

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 7

TVC(cbch) (3 10, 1)

Ao J u:me+09/3
-1677+ 0.1
209 6+ 0.0

= -4.7; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (3 10,5)

AL L2 the+09/3
-1314+ 0.1
1894+ 0.0

= -5.28 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (3 10

Ty /Jbe+09/3
-1099+ 0.1
1834+ 0.0

= -5.45I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (3 10,13)

T 4 DHDe+OQI3
-936.9+ 0.1
181+ 0.0

Z 55205

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (3 10, 2)

LAl smae+09/3
-1182+ 0.1
185.2+ 0.0

= -5.40I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (3 10,6

S rnun 3.039e+09 /3
-1356+ 0.1
194.8+ 0.0

= -5.13 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (3 10 10

T 2.945e+09 /3
-1366+ 0.1
198.3+ 0.0

= -5.04 [psich]

50 100

TP delay [ns]

TVC(cbch) (3 10, 14

T z2914e+09 /3
-1060+ 0.1
181.4+ 0.0

= -5.51I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (3 10, 3)

AT g, :uue+09/3
190 8+ 0.0

-1258+ 0.1

= -5.245}6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (3 10,7)

Sy, 13/E+09/3
205 7% 0.0

-1627+ 0.1

= -4.86 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (3 10 11)

Tz, //le+09/3
N 1849+00

-1116+ 0.1

= -5.41 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (3 10,15)

-1368+ 0.1

T 4 Ud:)e+09/3
198 5+ 0.0

S 504 [psic]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

TVC(cbch) (3,11,0)

“nun 3.u40e+09/3
PO 1312+ 0.1
pl 190.1+ 0.0

= -5.26I [ps/ch]

100

TP delay [ns]

TVC(cbch) (3,11,4

S rnun 2.98be+09 /3
pO -1193+ 0.1
pl 188.1+ 0.0

= -5.32I [ps/ch]

50 100
TP delay [ns]

TVC(c,b, ch) (311,8

T 2.843e+09 /3
PD -1419+ 0.1
pl 198.9+ 0.0

= -5.03 [ps/ch]
50

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (3,11,1)

T nun 2,9u0e+09 /3
PO -1161+ 0.1
p1 184.8+ 0.0

= -5.4?é [ps/ch]

100

TP delay [ns]

TVC(cbch) (3 1,5)

= -6.20 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (3 11,9

= -5.54I [ps/ch]
50

100

TP delay [ns]

15000

10000

5000

Sanan g, bhzemg /3
o -636.5+ 0.1 i
161 4+ 0.0 15000

10000

5000~

Tonan g, wae+0913
-1106 £ 0.1
L 180 6+ 0.0 15000

10000

5000

0

TVC(cbch) (311,2)

Trnun 2, yo0e+09/3
PO -1381+ 0.1
pl 196.6+ 0.0

= -5.09I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (3116

S rnan 2. z29e+09/3
pO 1056+ 0.1
pl 182.6:+ 0.0

‘= -5.48 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (3 11 10)

At 4aatse+09/3
i -970.3+ 0.1
- 179.2+ 0.0

- -5.58I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (311,3)

T nun 2uyse+09 /3
PO -1281+ 0.1
p1 190.1+ 0.0

= -5.26;6 [ps/ch]

100

TP delay [ns]

TVC(cbch) (3 1,7)

-1096+ 0.1

T2 dsde+09 13
185.1+ 0.0

‘= -5.40 [ps/ch]
= 5

100
TP delay [ns]

TVC(Ebeh)= (3 1,11)

-1282+ 0.1

Tnun g UU/e+09/3
191 8+ 0.0

= -5.21 [ps/ch
- ﬁ[p |

100

TP delay [ns]

TVC(cbch) (311,12 TVC(cbch) (3 11,13) TVC(cbch) (3 11,14) TVC(cbch) (3 11,15)

S rna 4312:e+09/3 1o 4 11e+09/3 S rnu 4544e+09/3 Sna z bu/e+09/3
-1070+ 0.1 -1111+ 0.1 + -976 + 0.1 -1056+ 0.1
15000 = P1 179.4+ 0.0 15000 185 5+ 0.0 15000 -— 177 6+ 0.0 15000 181 8+ 0.0
10000~ - 10000 s 10000 L ] 10000~ B
5000 = 5000 - 5000 L ] 5000 |- -
‘= -5.57 [ps/ch] = -5.39 [ps/ch] [ &= -5.63 [ps/ch] ‘= -5.50 [ps/ch]
0 F PR e S 0 F_ R B S 0 I B S R | 0 P B S
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(eb.ch)=(4,0,0)

ALY .suue+09/3
-1381+ 0.1
/ 10514 0.0
15000~
10000 4
5000 J
= -5.13 [ps/ch]
° = 51'7 100
TP delay [ns]
TVC(c,b ch) (4, O )
S rna 2.9oze+09/3
PO 93+ 0.
15000 pl / 11815,6: 0_01
10000~ -
5000 [~ -
= -5.39 [ps/ch]
° = Eg 100
TP delay [ns]
TVC(c,b ch) (4, O )
Srnu3.uz/e+09/3
PO -1478+ 0.1
pL / 2019+ 0.0
15000~ ]
10000 J
5000 [ J
= -4.95 [ps/ch]
% = Eg 00
TP delay [ns]
TVC(c,b ch) (4,0,12)
Tnun2582e+09/3
p1 / 1];921501
15000~
10000 4
5000~ J
= -5.27 [ps/ch]
K FIIS(I)""mo

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~
3

15000

10000

5000
b

15000

10000

5000 [~

TVC(cbch) (4 0,1)

Tonan June+09/3
-1212+ 0.1
1904+ 0.0

= -5.2&;é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 0,5

AL L2 34be+09/3
-1343+ 0.1
1949+ 0.0

= -5.13 [ps/ch]
= %

100
TP delay [ns]

TVCEebeh)=(4, p

nar z Bre+09/3
-1388+ 0.1
197 7+ 0.0

‘= -5.06 [ps/ch]
50

100

TP delay [ns]

TVC(c,b Ch) (4 O 13)

Tona ¢ U1£e+09/3
-1273+ 0.1
1919+ 0.0

<521 psich)

100

TP delay [ns]

15000
10000

5000~

15000
10000

5000

15000
10000

5000

0

15000
10000

5000~

TVC(cbch) (4 0,2)

AL 6Ulj.e*09/3
-1230+ 0.1
188.9+ 0.0

= -5.29 [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 0,6

S rnu 2.980e+09 /3
PO -1230+ 0.1
pl 190.5+ 0.0

= -5.25 [ps/ch]
= EY

100
TP delay [ns]

TVC(eh.ch)= (4 0,10

T 2.yze+09/3
-1183+ 0.1
1904+ 0.0

= -5.25I [ps/ch]

50

1
100

TP delay [ns]

TVC(e.beh)=(40, 1

T 2901e+09/3
-1142 + 0.1
184+ 0.0

4

= -5.43 [ps/ch]

50

1
100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 0,3)

Tnan g uule+09/3
-1270+ 0.1
192.1+ 0.0

= -5.2;[ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 0,7

AL A 34ye+09/3
-1354+ 0.1
1944+ 0.0

= -5.14 [ps/ch]
= Ey

100
TP delay [ns]

TVC(c,b ch) (4 O

AL X U/ze+09/3
-1248+ 0.1
190 2+ 0.0

= -5.26 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(c,b ch) (4 O 15)

Tona zu/ye+09/3
-1140 £+ 0.1
1BBZ+ 0.0

5 3Lipsien]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

T s.uL0e+09 /3

TVC(c,b,ch)=(4,1,0)
T A

po 1214+ 0.1
pL 1863+ 0.0

= -5.37I [ps/ch]

5 100

TP delay [ns]

TVC(c,b,ch)=(4, 1, 4

S rna281/e+09/3
po 1029+ 0.1
[ p1 180.9+ 0.0

‘= -5.53 [ps/ch]
£ EY

100
TP delay [ns]

TVC(c,b,ch)=( 4, 1, 8

'8)
Tz /10e+09 /3
po -1227+ 0.1
p1 191+ 0.0

= -5.23 [ps/ch]
£

100

TP delay [ns]

TVC(c,b,ch)=(4, 1, 12

T 2853e+09 /3
po -963.3+ 0.1
p1 181+ 0.0

= -5.52I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(4,1,1)
T A

T g.0z1e+09 /3
po 41102+ 0.1
p1 186.3+ 0.0

= 5.3Zé [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,1,5)

Sonan Zore+09/3
po 9672+ 0.1
p1 1782+ 0.0

= -5.61 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(4, 1,9)

’
T2 /58e+09 /3

po -1161+ 0.1
pl 186.7+ 0.0

(= -5.36I [ps/ch]
50

100

TP delay [ns]

“inun zob3e+09/3

TVC(c,b,ch)=(4, 1, 13)

po -839.2+ 0.1
pl 173.7+ 0.0

¥ 578 lpsch)

TP delay [ns]

T gz0e+09 /3

15000

10000

5000

TVC(c,b,ch)=(4,1,2)
T A

po 1279+ 0.1
pL 191.9:+ 0.0

= -5.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 1,6

15000

10000

5000

-1 Zpose+09 /3
po -605.1+ 0.1
pL 164.2:+ 0.0

= -6.09 [ps/ch]
ER

100
TP delay [ns]

TVC(c,b,ch)=( 4, 1, 10

15000

10000

5000

0

T 2.839e+09 /3
po 9715+ 0.1
p1 181.1* 0.0

= -5.52 [ps/ch]

| 1
50 100

TP delay [ns]

15000

10000

5000 [~

TVC(c,b,ch)=(4, 1, 14

L &= -5.94I [ps/ch]

T 2,pooe+09 /3
po -786.9+ 0.1
p1 168.4+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(4, 1, 3)
T A

T z2973e+09 /3
po 1236+ 0.1
p1 191.1+ 0.0

= -5.2:; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,1,7)

SnunzZ30e+09/3

po -696.1% 0.1
p1 1686+ 0.0

= -5.93 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(4, 1, 11)

rnur 2.9ye+09 /3

po -1117+ 0.1
pl 183.7+ 0.0

= -5.44 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tonan2.889e+09 /3

TVC(c,b,ch)=(4, 1, 15)

po -1095+ 0.1
pl 186.1+ 0.0

A 53T loslen]

TP delay [ns]



T zyo1e+09/3

TVC(c,b,ch)=(4,2,0)
T A

0 - + 0.
n/ imeios
15000~ 7
10000~ 71
5000 [~ 7
= -5.22 [ps/ch]
0, - 51') 100
TP delay [ns]
TVC(c,b,ch)=(4,2,4)
: X" rnun 246409 /3
po 1223+ 0.
p1 / 1:119,3: o.o1
15000~ 7]
10000 7]
5000 - 1
= -5.28 [ps/ch]
0, - 5(') 100
TP delay [ns]
TVC(cb,ch)=(4,2,8)
. X~ 11U 2 5p1e+
po 1175+ 0.1
ol p1 / 188.4+ 0.0
10000~ 7
5000 [ 7]
= -5.31 [ps/ch]
05 = 5[') 100
TP delay [ns]
TVC(c,b,ch)=(4, 2,12)
r A- 1z ro8e+09 /3
0 1327+ 0.
5/
15000~ 7
10000~ 71
5000 [~ 7
G4 -5.14 [ps/ch]
0, _—

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

T 3.01e+09/3

TVC(c,b,ch)=(4,2,1)
T A

po -1459+ 0.1
pL 1995+ 0.0

= -S'Oé [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,2,5)

“nun 268be+09 /3
po 1042+ 0.1
[ pl 181.2+ 0.0

‘= -5.52 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(4,2,9)

1 2571e+09/3

po -1164 0.1
pL 187.3+ 0.0

= -5.34I [ps/ch]
50

100

TP delay [ns]

rnun 2.93e+09 /3

TVC(c,b,ch)=(4, 2, 13)

po 1224+ 0.1
pl 188.5+ 0.0

530 psich]

100

TP delay [ns]

15000
10000

5000 [~

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

T 29o3e+09 /3

TVC(c,b,ch)=(4, 2,2)
- T A

po 1374+ 0.1
pL 195.3+ 0.0

= -5.12 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 2,6

S rnu 2.953e+09 /3
po 1337+ 0.1
p1 1936+ 0.0

= -5.17 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=(4, 2, 10

T z5/2e+09/3
po 1102+ 0.1
pl 185.2+ 0.0

= -5.40I [ps/ch]

1
50 100

TP delay [ns]

F G4 -5.22 [psich]

TVC(c,b,ch)=(4, 2,14

S Zze+09/3
po 1234+ 0.1
p1 191.7+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(4, 2, 3)
T A

T g.0z4e+09 /3
po -1401# 0.1
p1 196+ 0.0

= 5.1(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4,2,7)

S nun 2.8o2e+09 /3
po 1212+ 0.1
p1 190.1+ 0.0

‘= -5.26 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(4, 2, 11)

Tonan 2 52e+09/3

po -1108 £ 0.1
pL 185+ 0.0

= -5.41 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tananz.7z5e+09/3

TVC(c,b,ch)=(4, 2,15)

po -1140£ 0.1
pl 185.8+ 0.0

535

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (4 3,0)

ALY 40349+09/3
-1119+ 0.1
182.8+ 0.0

=-5.47 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 3,4

S rnu Z.9oze+09 /3
pO -1294+ 0.1
pl 191.9:+ 0.0

= -5.21 [ps/ch]
- EY

100
TP delay [ns]

TVC(c,b ch) (4 3,8

T z9u1e+09 /3
PD -1361% 0.1
pl 194.9+ 0.0

= -5.13 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (4,312

Tnunzoy4e+09 /3
-1140 £ 0.1
P1 182.1% 0.0

= -5.49I [ps/ch]

100

TP delay [ns]

20000

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 3,1)

Tona 4 JD49+09/3
-2140% 0.1
224+ 0.0

= -4.4% [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 3,5

AT yzﬁe+09/3
-1370+ 0.1
192 2+ 0.0

= -5.20 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (4 3,9

Ty /yae+09/3
-1216+ 0.1
1878+ 0.0

= -5.33I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 3,13)

T 4 sue+0913
-1471+ 0.1
201+ 0.0

£ -4.98 [psich]

100

TP delay [ns]

15000
10000

5000~

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (4 3,2)

ALY 4\.7.519+09/3
-1260+ 0.1
189+ 0.0

= -5.29I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 3,6

- rnu 3.0u8e+09 /3
pO -1361+ 0.1
pl 194.3+ 0.0

= -5.15 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (4 3,10

Trna29//e+09/3
-1302+ 0.1
1916+ 0.0

= -5.22I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 3,14

T g100e+09 /3
-1528+ 0.1
2045+ 0.0

£ -4.89 [psich]

50 100
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15000

10000

5000

15000

10000
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15000

10000

5000

15000

10000

5000

TVC(cbch) (4 3,3)

AL 3U4e+09/3
-1009+ 0.1
179 7+ 0.0

= -5.5; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 3,7

a2 34he+09/3
-1315+ 0.1
194+ 0.0

= -5.15 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 3

Tz usae+09/3
-1198 £ 0.1
189. 1+ 0.0

= -5.29 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (4 3,15)

T z u:;:;e+09/3
-1336+ 0.1
194 3+ 0.0

£ 515l

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000
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TVC(cbch) (4 4,0)

ALY 46409+09/3

1194 + 0.1
187.2+ 0.0

= -5.34I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 4,4

- rnun 3.040e+09 /3
pO -1401% 0.1
pl 197+ 0.0

= -5.08 [ps/ch]
£

100
TP delay [ns]
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T 2. 803e+09 /3
PD -1485% 0.1
pl 200.1+ 0.0

= -5.00 [ps/ch]
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100
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Taonuzo1/e+09/3
900+ 0.1
P1 173.9+ 0.0

= -5.75I [ps/ch]
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10000
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15000

10000
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10000
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15000

10000
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TVC(cbch) (4 4,1)

Tona 4 auze+09/3
-1305+ 0.1
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= -5.1&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 4,5

AL L2 3ybe+09/3
-1581+ 0.1
204 5% 0.0

= -4.89 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (4 4,9

Ty /Jt—le+09/3
-1092+ 0.1
1818+ 0.0

= -5.50I [ps/ch]
50

100

TP delay [ns]

TVC(c,b ch) (4 4,13)

LAl 4 //oe+09/3
-1128 £ 0.1
1859+00

538 psich)

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (4,4,2)

ALY suzve+09/3
-1224+ 0.1
Pl 189. 9+ 0.0

= -5.27I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 4,6

S rnun 3.025e+09 /3
pO 1546+ 0.1
pl 203.5+ 0.0

= -4.91 [psich]
50

100
TP delay [ns]

TVC(cbch) (4 4,10

T 2.8/9e+09 /3
-1111+ 0.1
182.6+ 0.0

= -5.48I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 4,14

T z.ure+09/3
-763.1+ 0.1
167.4+ 0.0

= -5.98I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 4,3)

Tnuan g uzue+09/3
-1254+ 0.1
188 8+ 0.0

= -5.3(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 4,7

S zdide+09/3
-1183+ 0.1
1859+ 0.0

‘= -5.38 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (4 4

AL X Ume+09/3
-1539+ 0.1
203 2+ 0.0

= -4.92 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (4 4,15)

T z ub4e+0913
-1110+ 0.1
185 3+ 0.0

£ 540 sich)

100

TP delay [ns]



TVC(cbch) (4 5,0)

15000~

10000~

5000 [~

LAl £0659+09/3
-1146 + 0.1
178.5+ 0.0

= -5.60I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 54

15000~

10000~

5000 [~

S rnaZ2ys/e+09/3
pO 1296+ 0.1
pl 191.1+ 0.0

= -5.23 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (4 5,8

15000

10000~

5000 =
b

0

T 2.880e+09 /3
PD -1406+ 0.1
pl 196.1+ 0.0

0

= -5.10 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (4,5,12

15000

10000~

5000 [~

Tnun2529e+09/3
7845+ 0.1
P1 169.2+ 0.0

= -5.91I [ps/ch]
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15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 7

15000

10000
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TVC(cbch) (4 5,1)

Tona J uz/e+09/3
-1530+ 0.1
200 5+ 0.0

= -4.9&;)% [ps/ch]

100
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TVC(c,b ch) (4 55

Ty, uhye+09/3
-1407+ 0.1
1964+ 0.0

i~ -5.09 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (4 59

Ty /Ube+09/3
-1306+ 0.1
1899+ 0.0

= -5.27I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 5,13)

T znuze+0913
-933.9+ 0.1
1747+00

£ 5725
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15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000
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TVC(cbch) (4,52)

Trnw zvvae+09/3
i n/ it
C = -5.27 [ps/ch]
- S(I) 100
TP delay [ns]
TVC(c,b ch) (4, 5 )
- rnu 2.b81e+09 /3
: i? / _‘
G4 -5.24 [ps/ch]
- S(I) 100

TP delay [ns]

TVC(cbch) (4 5 10

T 2. 888e+09 /3
-1288+ 0.1
193.4+ 0.0

= -5.17I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 5,14

5000~
3

T zos8e+09 /3
-1168 + 0.1
188.6+ 0.0

= -5.30I [ps/ch]

1
50 100
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15000

10000

5000

15000

10000
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15000

10000
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15000

10000

5000

TVC(cbch) (4 5,3)

Tnan g uu/e+09/3
-1200+ 0.1
187 9+ 0.0

= -5.3?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 57

S 2 3Uze+09 13
-1257+ 0.1
190. 1+ 0.0

‘= -5.26 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 5

Tz usae+09/3
-1219+ 0.1
188 9+ 0.0

‘= -5.30 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (4 5,15)

T z uwe+09/3
-1042+ 0.1
183 7+0.0

S 54D

TP delay [ns]



TVC(c,b,ch)=(4, 6,0)
T A

T zu0/e+09/3

po
pL

-1477+ 0.1
197.8+ 0.0

15000 = 7
10000~ 7]
5000 - 7
G4£ -5.05 [psich]
0, 51') 100
TP delay [ns]
TVC(c,b,ch)=(4,6,4)
: X- 1 Zy16e+09 /3
0 1323+ 0.
n/ rees
15000~ 7
10000~ 7
5000 - 7
= -5.22 [ps/ch]
0 = 100
TP delay [ns]
TVC(c,b,ch)=( 4, 6, 8)
r X™ 1 2831e+09 /3
0 1220+ 0.
zl / 1:281 (?.01
15000~ T
10000~ 7
5000 [~ 7
= -5.27 [ps/ch]
05 = 5[') 100
TP delay [ns]
TVC(c,b,ch)=(4, 6,12)
r Ao oz rzze+09/3
0 1107 £ 0.
f et
10000~ 7
5000~ 7]
= -5.45 [ps/ch]
op——E——

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

TVC(c,b,ch)=(4, 6, 1)
T A

TVC(c,b,ch)=( 4, 6,

5)

“nuan3.0/9e+09 /3

p0
pl

“rnunz5uze+09 /3
po 1584+ 0.1
pL / 207.9% 0.0
= -4.81 [ps/ch]
5'5 100
TP delay [ns]

-1368+ 0.1
193.3+ 0.0

= -5.17 [ps/ch]
%

100

TP delay [ns]

TVC(c,b,ch)=(4,6,9)

1 nun 2.842e+09 /3
po 1089+ 0.1
[ pl / 183.6+ 0.0
‘= -5.45 [ps/ch]
= 56 100
TP delay [ns]

TVC(c,b,ch)=(4, 6,13)

T 2 848e+09 /3
po -1353+ 0.1
p1 196.2+ 0.0
15000 [ 7]
10000 - 7]
5000 [~ 71
= -5.10 [ps/ch]
o PEETEE N B S
50 100
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10000

5000

15000
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T g rz0e+09 /3

TVC(c,b,ch)=(4, 6,2)
F T x

-1715+£ 0.1

-4.84 [psich]
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p1 206.7+ 0.0

100

TP delay [ns]

TVC(c,b,ch)=(4, 6,

6

S rnun3.103e+09 /3
po 1437+ 0.1
pl 197.2+ 0.0

-5.07 [ps/ch]

1
50

100

TP delay [ns]

TVC(c,b,ch)=( 4, 6, 10

T 2.990e+09 /3

[ -1302+ 0.1

[ 193+ 0.0
15000~ T
10000~ 7]

soo0}- .
C ]
e
-
[ GA&= -5.18I [ps/ch] .
0 50 100

15000

10000

5000

TP delay [ns]

TVC(c,b,ch)=( 4, 6, 14

1nunz.(10e+09/3

i po 995.5+ 0.1
L pl 176+ 0.0

[ (= -5.68 [ps/ch]

|
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1
100
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10000
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15000

10000
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15000

10000
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15000

10000
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TVC(c,b,ch)=(4, 6, 3)
T AT rnun 3138e+09/3
0 - + 0.
0 [
GA -4.95 [ps/ch]
gé 100
TP delay [ns]
TVC(c,b,ch)=(4,6,7)
: A™ U Z.yzoe+09 /3
0 . + 0.
51 / 1&192.1425‘
= -5.20 [ps/ch]
- 5(') 100
TP delay [ns]
TVC(c,b,ch)=(4, 6, 11)
. X7 1 nun Z.ob4e+09/ 3
0 - + 0.
[ 21/ 1;3(.398: 301
‘= -5.59 [ps/ch]
= gé 100
TP delay [ns]
TVC(c,b,ch)=(4, 6,15)
. AT 1nun 2, 724e+09/3
i n/ iaies
‘= -5.63 [ps/ch]
- IE—— T
TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000 [~

TVC(cbch) (4 7,0)

ALY ¢v<1e+09/3
-1161+ 0.1
184.8+ 0.0

=-541 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 7,4

S rnun 2.891e+09 /3
pO 13441 0.1
pl 191.2:+ 0.0

= -5.23 [ps/ch]
£

100
TP delay [ns]

TVC(c,b ch) (4 7,8

Trnu2813e+09/3
pO 1117+ 0.1
pl 184.2+ 0.0

= -5.43 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (4,7,12

Tonunz,/yye+09/3
9245+ 0.1
P1 178.1% 0.0

= -5.62I [ps/ch]
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10000
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15000

10000
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15000

10000
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15000

10000
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TVC(cbch) (4 7,1)

Trnang 3A::e+09/3
-1223+ 0.1
190 51 OO

= -5.2&;é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 7,5

AL L2 3ue+09/3
-1229+ 0.1
1874+ 0.0

= -5.34 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 7,9

Ty ume+09/3
-1107 £ 0.1
1813+ 0.0

= -5.52I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 7,13)

T 4 DHHe+09/3
-1072+ 0.1
1838+ 0.0

<544 psich

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000

10000

0

15000
10000

5000

TVC(cbch) (4 7,2)

ALY suv:e+09/3
-1248+ 0.1
1895+ 0.0

= -5.28I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 7,6

S rnu 3.01/e+09/3
pO 1365+ 0.1
pl 193.9:+ 0.0

= -5.16 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (4 7 10

5000~
P

ALV al:e+09/3
-1152 £ 0.1
1883+ 0.0

= -5.31I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 7,14)

T 4 /sae+09 /3
-1033+ 0.1
181 7+ 0.0

= -5.50I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (4 7.3)

AL :u/e+09/3
-1127+ 0.1
183+ 0.0

= -5.46;6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 7,7

a2 d4de+09/3
-1049+ 0.1
182 9+ 0.0

= -5.47 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4, 7

LRI 2 ﬁae+09/3
-1191+ 0.1
189 3+ 0.0

‘= -5.28 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (4 7,15)

T z u4ue+09/3
-1086+ 0.1
185 6+ 0.0

£ 5390psich)

TP delay [ns]



15000

10000

5000~

15000

10000

5000 [~
F

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (4 8,0)

ALY Arsuue+09/3
-1324+ 0.1
189.7+ 0.0

= -5.27I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 8,4

S rnun 2.9oee+09 /3
pO 1379+ 0.1
pl 1955+ 0.0

= -5.12 [ps/ch]
- £

100
TP delay [ns]

TVC(c,b ch) (4 8,8

Tz z0e+09 /3
PD -1054+ 0.1
pl 180.6+ 0.0

‘= -5.54 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (4,812

Tonunz,yse+09/3
-1202+ 0.1
P1 188.1+ 0.0

= -5.32I [ps/ch]
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TP delay [ns]
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10000
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15000

10000
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15000

10000

5000 [~

15000

10000
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TVC(cbch) (4 8, 1)

Tona J uA::e+09/3
-1407+ 0.1
195 5+ 0.0

= -5.0&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 8,5

AL L2 3h/e+09/3
-1404+ 0.1
195 3% 0.0

i~ -5.12 [ps/ch]
%

100
TP delay [ns]

TVC(c,b ch) (4, ;3

rnany wae+09/3
-1044+ 0.1
183.1+ 0.0

= -5.46I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 8,13)

T 4 3U19+09/3
-1228+ 0.1
189 7+ 0.0

<527 psich)

100

TP delay [ns]

15000
10000

5000

15000

10000

15000
10000

5000 [~

0

15000
10000

5000 [~

TVC(cbch) (4 8,2)

P Sl vase+09/3
-1190+ 0.1
187.2+ 0.0

= -5.34I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 8,6

5000 [~
P

S rna293/e+09/3
pO 1355+ 0.1
pl 195.2:+ 0.0

= -5.12 [ps/ch]
- EY

100
TP delay [ns]

TVC(cbch) (4 8,10

Tz, g0e+09 /3
-1098+ 0.1
184.1+ 0.0

= -5.43I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 8,14

T 3.u1ve+09 /3
-1276+ 0.1
191.7+ 0.0

= -5.22I [ps/ch]
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50 100

TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000
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15000

10000
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TVC(cbch) (4 8,3)

Tona 4 uu:-e+09/3
-1429+ 0.1
198.1+ 0.0

= -5.0&;_:é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 8,7

T g U/be+09/3
-1330+ 0.1
193+ 0.0

‘= -5.18 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (4 8

Sl zazze+09/3
-984.7+ 0.1
1797+ 0.0

'— -5.57 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (4 8,15)

T zsude+09/3
-969.6+ 0.1
1776+ 0.0

£ 563 bS]

TP delay [ns]
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15000

10000
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15000

10000
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0

15000

10000

5000 [~

TVC(cbch) (4 9,0)

ALY nsmse+09/3
-1229+ 0.1
188.8+ 0.0

= -5.30I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 9,4

- a2 880e+09 /3
pO 1208+ 0.1
pl 1873+ 0.0

= -5.34 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (4 9,8

Tinu Zboe+09/3
-1007+ 0.1
F'1 183.2+ 0.0

‘= -5.46 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (4,9,12

Tnunzoy4e+09 /3
41113+ 0.1
P1 184.8+ 0.0

- -5.41I [ps/ch]

100

TP delay [ns]
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10000
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15000

10000
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15000
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15000
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TVC(cbch) (4 9,1)

Trnang u:ue+09/3
-1212+ 0.1
1858+ 0.0

= -5.3?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 9,5

AL L2 HUBE+09/3
-1233+ 0.1
191 3% 0.0

= -5.23 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4, 9

s zble+09/3
-775.2+ 0.1
1712+ 0.0

- -5.84I [ps/ch]
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100

TP delay [ns]

TVC(C, bch) (4 9,13)

T uuze+09/3
-1165+ 0.1
1882+00

<531 psich)
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15000

10000
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15000
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15000
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5000 [~

0

15000

10000

5000

5000 [~
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TVC(cbch) (4 9,2)

ALY zao/e+09/3
-1346+ 0.1
195 4+ 0.0

= -5.12I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (4 9,6

S rnuz9ure+09/3
pO 41322+ 0.1
pl 1945+ 0.0

‘= -5.14 [ps/ch]
EY

100
TP delay [ns]

TVC(cbch) (4 9,10

X7 4aue+09/3
-642.5+ 0.1
1623+00

= -6.16I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 9,14)

T 4 oaoe+09 /3
-884.7+ 0.1
179.1+ 0.0

= -5.58I [ps/ch]
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15000

10000

5000

15000

10000

5000

TVC(cbch) (4 9,3)

Tona 4 3b£e+09/3
-1386+ 0.1
199+ 0.0

5 -5.025:3é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (4 9,7

S 2 3zze+09 13
-1423+ 0.1
200.1% 0.0

'~ -5.00 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (4 9

Sl zbbﬁe+09/3
-848.2+ 0.1
1732+ 0.0

= -5.77 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (4 9,15)

T z msze+09/3
-1060+ 0.1
184 9+ 0.0
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TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (4 10,0)

Tnan g, uze+09/3
-1224+ 0.1
186.1+ 0.0

= -5.37I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4,104

- 2,945e+09 /3
PO -1142+ 0.1
pl 186.6 + 0.0

‘= -5.36 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (4,10,8

Snun 2.853e+09/ 3
pO 1315+ 0.1
pl 194.4+ 0.0

= -5.14 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (4,10,12

Tonu 2851e+09/3
41242+ 0.1
P1 185.9+ 0.0

= -5.38I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000 7

TVC(C, bch) (4 10, 1)

Ao 43:me+09/3
-1160 + 0.1
1877+ 0.0

= -5.3?é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 10,5)

Sy, uue+09/3
-1082+ 0.1
183 2+ 0.0

= -5.46 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 10,9

Ty 944&+09/3
-1331% 0.1
196 4+ 0.0

= -5.09I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 10,13)

T 4 3ooe+09/3
-1205+ 0.1
lBB 6+ 0.0
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100

TP delay [ns]

TVC(cbch) (4,10,2)

15000

10000

5000

1074+ 0.1

LAl 4wue+09/3
-_ /1816+00

= -5.51I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4 10,6

S rnu 3.021e+09 /3
-1343+ 0.1
195.2+ 0.0

15000 -—
10000 :— —:
5000 -— —:
[ G4 -5.12 [psich]
0 - =5 T00

TP delay [ns]

TVC(cbch) (4 10 10

15000

10000

0

5000 [~
Fa

T 2. 900e+09 /3
-1370+ 0.1
195.8+ 0.0

-5.11 I[ps/ch]

50 100

TP delay [ns]

TVC(cbch) (410,14

15000

10000

5000 [~
3

-1245+ 0.1

T 3.043e+09 /3
/ 190.6+ 0.0

= -5.25I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (4 10, 3)

AT rnun g U&4e+09/3
188 9+ 0.0

-1232+ 0.1

= -5.226 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 10,7)

SRR d:ﬂe+09/3
193 8+ 0.0

-1279+ 0.1

= -5.16 [ps/ch]
= 5

100
TP delay [ns]

TVC(eb,ch)= (4 10,11)

-1132+ 0.1

Tz uuae+09/3
L 184 7+0.0

= -5.41 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (4 10,15)

-1142 + 0.1

T z uuue+09/3
186 2+ 0.0
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15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (4,11,0)

T z004e+09 /3
pO -1023+ 0.1
pl 181.7+ 0.0

= -5.50I [ps/ch]

100

TP delay [ns]

TVC(cbch) (4,11,4

- rnu2.9uye+09 /3
pO -1103+ 0.1
pl 185.9:+ 0.0

‘= -5.38 [ps/ch]
= £

100

TP delay [ns]

TVC(cbch) (411,8

= -5.35 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (411,12

T 2890e+09 /3

1025+ 0.1
- P1 178.3+ 0.0

= -5.61I [ps/ch]

100

TP delay [ns]

15000

10000

5000 7

15000

10000

5000

Tz, oe+09 /3
PD -1225+ 0.1
pl 186.9+ 0.0 15000

10000

5000

15000

10000

5000 -

TVC(cbch) (4,11,1)

AT rnunz.y51e+09/3
po -882.4+ 0.1
p1 176.6+ 0.0

= -5.6(;»é [ps/ch]

100

TP delay [ns]

TVC(cbch) (4, ;1 5)

nur 3 Uye+09 13

-1189+ 0.1
p1 190.. 2+ 0.0

= -5.26 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 11

Tonan g, Mbe+09/3
-895.1+ 0.1
1754‘* 0.0

= -5.70 [ps/ch]
= 5

100

TP delay [ns]

TVC(cbch) (4 11,13)

AL 4 s14e+09 /3
-1230+ 0.1
185 7+0.0
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100

TP delay [ns]

15000

10000

5000~

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (4,11,2)

= -5.83I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4,116

Trnunzoboe+09/3
PO -785.1% 0.1
pl 1716+ 0.0

S rnun 3.038e+09 /3
pO 41182+ 0.1
pl 185.2:+ 0.0

‘= -5.40 [ps/ch]
- £

100
TP delay [ns]

TVC(e.bich)= (4 11,10)

- -5.53I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 11,14)

AL 4 B13e+09 /3
-1108 + 0.1
187.1+ 0.0

= -5.34I [ps/ch]
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50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

AL P2 544e+09/3
: -956.3+ 0.1
[ 180 8+ 0.0 15000

10000

5000

15000

10000

5000

TVC(cbch) (4,11,3)

T/ 2,oooe+09 /3
pO 7909+ 0.1
r pl 1735+ 0.0

= -5.76;6 [ps/ch]

100

TP delay [ns]

TVC(cbch) (4 1,7)

T2 ES/E+09/3
-1225+ 0.1
189 9+ 0.0

= -5.27 [ps/ch]
= 5

100
TP delay [ns]

TVC(Ebeh)= (4 1,11)

Tnun 2 azﬁe+09/3
-1017+ 0.1
L 180 8+ 0.0

= -5.53 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (4,11,15)

Tonan 252e+09/3
-1147+ 0.1
pl 188.3+ 0.0
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15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

T z902e+09 /3

TVC(c,b,ch)=(4, 12,0)
T X

PO -1018+ 0.1
= pl 177.3+ 0.0

= -5.64I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(4, 12, 4

- rnun 3.268e+09 /3
PO 1408+ 0.1
pl 193.2:+ 0.0

-5.18 [ps/ch]
£

100
TP delay [ns]

TVC(c,b,ch)=(4, 12,8

T 3.140e+09 /3
Po -1273+ 0.1
pl 191.1+ 0.0

= -5.23 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 12

Taona27e+09/3
po -1114% 0.1
pl 182.1+ 0.0

5 -5.49I [ps/ch]
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10000
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15000

10000
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15000

10000

5000 7

15000

10000

5000

A7 1 nun s.uboe+09/3

TVC(c,b,ch)=( 4, 12, 1)
T

PO -1067+ 0.1
L p1 182 0.0

= 5.4&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 5)

Conun3.231e+09/3

Y 1282+ 0.1
pL 192.3:+ 0.0

= -5.20 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=( 4,12, 9)

Tona29/7e+09/3

po -1214+ 0.1
pl 189.3+ 0.0

= -5.28I [ps/ch]
50

100

TP delay [ns]

Tinuazys1e+09/3

TVC(c,b,ch)=( 4, 12, 13)

PO -1079+ 0.1
| pl 182.1% 0.0
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T 251e+09 /3

15000 =
10000~

5000 [~

TVC(c,b,ch)=(4,12,2)
" T .

po 781+ 0.1
pl

168+ 0.0

= -5.95 [ps/ch]

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 6

15000~
10000

5000 =

S rnu 3.292e+09 /3
LY 1275+ 0.1
pl 191.7:+ 0.0

‘= -5.22 [ps/ch]
- £

100
TP delay [ns]

TVC(c,b,ch)=( 4, 12, 10

15000~
10000~
5000 [~

0

T 3.221e+09/3
po -866.7+ 0.1
pl 170.7+ 0.0

= -5.86 [ps/ch]

- 1 1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 14)

15000
10000 =

5000~

[ = -5.62 [ps/ch]

Tinu29yr0e+09/3
PO -1012+ 0.1
pl 177.9+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

AT 1 2.590e+09/ 3

TVC(c,b,ch)=( 4, 12, 3)
T

PO 41128+ 0.1
L p1 184.4+ 0.0

= -5.4?6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 12, 7)

- nun 3.08e+09 /3

Y -1355+ 0.1
pL 194 0.0

= -5.16 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=( 4, 12, 11)

“ona3.u8/e+09/3

po -893.9+ 0.1
r pl 174.3% 0.0

= -5.74 [ps/ch
= ﬁ[p |

100

TP delay [ns]

Tnanz802e+09/3

TVC(c,b,ch)=( 4, 12, 15)

PO 1148 + 0.1
pl 186.8+ 0.0

535 lpsich)

TP delay [ns]



15000

10000
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10000

5000

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (4 13,0)

ALY .swse+09/3
-1403+ 0.1
200.4+ 0.0

= -4.99 [ps/ch]

100

TP delay [ns]

TVC(cbch) (4,134

S z91/e+09/3
41247+ 0.1
pl 1907+ 0.0

= -5.24 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (4,13,8

Tornuz./10e+09/3
pO -870.7+ 0.1
- pl 178.7+ 0.0

= -5.59 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (4,13,12

Taonuz812e+09/3
-941.6+ 0.1
P1 174.6+ 0.0

= -5.73I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~
b

15000

10000

5000

15000

10000

5000

TVC(C, bch) (4 13,1)

Ao J uze+09/3
-1376+ 0.1
199+ 0.0

= -5'035 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4, 13 5)

nur 2 5he+09 13
-1193+ 0.1
188 5% 0.0

= -5.30 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 13,9

Ty /A-le+09/3
-958.1+ 0.1
183 7+ 0.0

= -5.44I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 13,13)

T 43439+09/3
-1110+ 0.1
1867+00
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TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000
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15000

10000

5000 [~

TVC(cbch) (4 13,2)

Tonan g, 1669+09/3
-1412+ 0.1
200+ 0.0

= -5.00 [ps/ch]

100

TP delay [ns]

TVC(cbch) (4 13,6

Srna31zze+09/3
-1301% 0.1
192.8+ 0.0

‘= -5.19 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (4 13 10

Tz, 30e+09 /3
[ 916.4+ 0.1
- 179.6+ 0.0

- -5.57I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 13, 14

T 293/e+09/3
-1158 + 0.1
190.9+ 0.0

= -5.24I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000

5000

15000

10000

5000

TVC(C, bch) (4 13,3)

AT g, 144e+09/3

-1232+ 0.1
1944+ 0.0

= -5.145}6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 13,7)

T g Ubde+09/3
199 7% 0.0

-1419+ 0.1

‘= -5.01 [ps/ch]
50

100
TP delay [ns]

TVC(eb,ch)= (4 13,11)

Tz usse+09/3
- 180 6+ 0.0

-916 £ 0.1

= -5.54 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (4 13,15)

-1168 + 0.1

T z u34e+0913
191 6+ 0.0
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15000

10000

5000

TVC(c,b,ch)=(4,14,0)

X /nur 5.1e+v09/3
po -1216+ 0.1
pl 188.1+ 0.0

= -5.31I [ps/ch]

51 100

TP delay [ns]

TVC(c,b,ch)=(4, 14, 4

15000

10000

5000

S 3.1z8e+09/3
PO 1326+ 0.1
pl 194.4:+ 0.0

= -5.14 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b,ch)=(4, 14,8

S Zy3e+09/3
LY -952.9+ 0.1
r pl 175.4+ 0.0

15000
10000 = -
5000 [~ -1
‘= -5.70 [ps/ch]
% = 55 00
TP delay [ns]
TVC(c,b,ch)=( 4, 14, 12
T X~ 1w 2. 859e+09 / 3
20000 = 0 - +0..
n /) daries
15000~ 1
10000 = -
5000 [~ 1
G -4.41 [ps/ch]
O — s

TP delay [ns]

TVC(c,b,ch)=( 4, 14, 1)
T

AT rnuan s 1wse+09/3

15000 =

10000 -

5000

PO 1127+ 0.1
pl 183.2+ 0.0

= 5.4(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=( 4, 14,5)

“onua3172e+09/3

15000

10000

5000

Y -1531+ 0.1
pL 203.4:+ 0.0

= -4.92 [ps/ch]
50

100
TP delay [ns]

TVC(c,b,ch)=(4, 14,9)

Tananz./r7e+09/3

15000

10000

5000 [~

p0 -827.8+ 0.1
B pl 1725+ 0.0

- -5.80I [ps/ch]
50

100

TP delay [ns]

Tina3.0u75e+09/3

15000

10000

5000 -

TVC(c,b,ch)=(4, 14, 13)

PO -1184 % 0.1
L pl 185.6+ 0.0
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100

TP delay [ns]

T s.002e+09 /3

15000~
10000~

5000 [~

= -5.45 [ps/ch]

TVC(c,b,ch)=( 4, 14, 2)
- T )‘

po -1068+ 0.1
pl 183.6 % 0.0

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 14, 6

15000~
10000

5000 [~
P

- rnun 3.003e+09 /3
LY 41189+ 0.1
pl 188.8:+ 0.0

‘= -5.30 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b,ch)=( 4, 14, 10

15000~
10000

5000 [~

T 2.843e+09 /3
po -823+ 0.1
pl 170.9+ 0.0

- -5.85 [ps/ch]

0

1 1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 14, 14)

15000~
10000 =

5000~
3

[ f= -5.27 [ps/ch]

Trnung182e+09/3
PO -1235+ 0.1
pl 189.7 + 0.0

|
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 14, 3)
T

AT rnun 2.918e+09/ 3

0 959 £ 0.
15000} sl / 17?39 + g.;
10000 - -
5000 - -
=~ -5.58 [ps/ch]
0 = gé 100
TP delay [ns]
TVC(c,b,ch)=(4, 14, 7)
T X7 1nu 2.914e+09 /3
po 1117+ 0.
15000 pl / 1;33-.177: ool
10000 -
5000 -
‘= -5.41 [ps/ch]
o = 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(4, 14, 11)
T X~ rnun 2ys1e+09/3
po -1049+ 0.1
15000 pl / 183.7+ 0.0
10000 [ -
5000 -
‘= -5.44 [ps/ch]
0, = _L
50 100
TP delay [ns]
TVC(c,b,ch)=( 4, 14, 15)
T X~ 1w 3.u38e+09 /3
0 - £0.
15000} 21 / 1;(;.376 + g.ul
10000 - -
5000 - -
‘= -5.54 [ps/ch]
0 P R
50 100

TP delay [ns]



15000

10000
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10000
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15000

10000
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0
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10000

5000

TVC(cbch) (4 15,0)

R éue+09/3
-1439+ 0.1
197.6+ 0.0

‘= -5.06 [ps/ch]

100

TP delay [ns]

TVC(cbch) (4,154

S rna 2.8/5e+09/3
pO -1056+ 0.1
- pl 180+ 0.0

‘= -5.55 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (4, 15 8

T z2.942e+09 /3
PD -1123+ 0.1
pl 186.5+ 0.0

= -5.36 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (4,15,12

Tonun 2504e+09 /3
8424+ 0.1
P1 173.7+ 0.0

= -5.76I [ps/ch]

100

TP delay [ns]

15000

10000
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15000

10000

5000

15000

10000

5000 7

15000

10000

5000 [~

TVC(C, bch) (4 15,1)

AL J4ude+09/3
-1344+ 0.1
193 6+ 0.0

= -5.1Zé [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 15,5)

AL L2 Hlbe+09/3
-1208+ 0.1
188 2+ 0.0

= -5.31 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (4 15,9

Ty, Ujée+09/3
-1121+ 0.1
183 5+ 0.0

= -5.45I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (4 15,13)

T 4 /soe+09/3
-1203+ 0.1
191 2+ 0.0
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100

TP delay [ns]

TVC(cbch) (4 15,2)

15000

10000

5000

LAl 61U(e+09/3
-1267+ 0.1
1898+ 0.0

= -5.27I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (4 15,6

S rnu2.86/e+09/3
-1284+ 0.1
191. 2+ 0.0

15000
10000 :_ _:
5000 -— —:
[ G4 -5.23 [ps/ch]
0 = 00

TP delay [ns]

TVC(cbch) (4 15 10

15000

10000

0

5000~
P

T 3.0z0e+09 /3
-1207+ 0.1
188.9+ 0.0

= -5.29I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4 15, 14

15000

10000

5000~
3

T 3.0use+09 /3
-1261+ 0.1
189.3+ 0.0

= -5.28I [ps/ch]

1
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15000

10000
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15000

10000
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15000

10000
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15000

10000
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TVC(C, bch) (4 15, 3)

AT g, ub:-e+09/3

-1169 + 0.1
1863+OD

= -5.3; [ps/ch]

100

TP delay [ns]

TVC(c, bch) (4 15,7)

S 2 3Ube+09 13
190. 1+ 0.0

-1228+ 0.1

= -5.26 [ps/ch]
= 5

100
TP delay [ns]

TVC(eb,ch)= (4 15,11)

Tz a/ae+09/3
I~ 175 7+ 0.0

-972+ 0.1

= -5.69 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (4 15,15)

-1028+ 0.1

T z 3/3e+09/3
N 182 9+ 0.0
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TVC(cbch) (5 0,0)

KT na zxsoe+09/3
-1073+ 0.1
- 182.4+ 0.0

15000
10000~ -
5000 [~ -
= -5.48 [ps/ch]
K = 51'7 100
TP delay [ns]
TVC(c,b ch) (5 0,4)
S rnun 2.830e+09 /3
o :
e
10000 = -
5000 = -
‘= -5.34 [ps/ch]
o - 5:) 100
TP delay [ns]
TVC(c,b ch) (5 0,8)
“nuz501e+09/3
b0 +
15000~ zl / 19875.:¢ (?.01
10000~ -
5000 - -
= -5.53 [ps/ch]
% = SIIJ 100
TP delay [ns]
TVC(cbch) (5, O 12)
Tinu Zoie+09/3
5000 n/ tivies
10000 = -
5000~ -
= -5.84 [ps/ch]
K — S(I) — "5

TP delay [ns]

TVC(cbch) (5 0,1)

15000~

10000~

5000 [~

Trnang aaue+09/3
-1171+ 0.1
187 3+ 0.0

= -5.345_1é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 0,5

15000~

10000 =

5000 -
P

AL L2 bee+09/3
-1153 £ 0.1
189+ 0.0

= -5.29 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5, p

15000 -

10000 [~

5000 [~
b

rnany Uwe+09 13
-1281% 0.1
195 3+ 0.0

= -5.12 [ps/ch]
= %

100

TP delay [ns]

TVC(c,b Ch) (5 O 13)

15000 =

10000~

5000 [~

T 4nuoe+09/3
-764.7+ 0.1
1719+00

G582 psih]

100

TP delay [ns]

TVC(cbch) (5 0,2)

15000~
10000 =

5000 [~

Tonangz, /aze+09/3
-1075+ 0.1
181.4+ 0.0

= -5.51 [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (5 0,6

15000~
10000

5000 -

S 2830409/ 3
PO 1155+ 0.1
pl 187.4+ 0.0

= -5.34 [ps/ch]
= EY

100
TP delay [ns]
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15000~
10000 -

5000 [~

0

T 2.552e+09 /3
-888.3+ 0.1
178.9+ 0.0

=-5.59 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 0,14

15000~

10000~

5000 [~

T z.u1e+09/3
-756.8+ 0.1
170.4+ 0.0

= -5.87I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 0,3)
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10000 -

5000 =

Tonuan bUUe+09/3
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174.1% 0.0

- -5.745}6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 0,7

15000

10000 -

5000

AL X bd/e+09/3
-1022+ 0.1
179 5% 0.0

= -5.57 [ps/ch]
= 5

100

TP delay [ns]

TVC(c,b ch) (5 O

15000 -

10000 -

5000 -

Sl zauﬁe+09/3
-853.8+ 0.1
1742+ 0.0

= -5.74 [ps/ch]
gé 100

TP delay [ns]

TVC(c,b ch) (5 O 15)
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10000 -

5000 -
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-644.6+ 0.1
1642+ 0.0

5609 sl

100

TP delay [ns]



15000
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15000
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0

15000
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T X
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100

TP delay [ns]

TVC(c,b,ch)=(5, 1, 4
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p1 190.9+ 0.0

= -5.24 [ps/ch]
- EY

100
TP delay [ns]

TVC(c,b,ch)=(5, 1, 8

T z.488e+09 /3
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=~ -5.62 [ps/ch]
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100

TP delay [ns]
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- 1w 2, 7a8e+09 /3
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p1 186.3+ 0.0
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100
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[ T

po 1468+ 0.1
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15000~ 7]
10000 .
5000 -— _-
N ]
[
-
| G4 -5.07 [psich]
0, 50 100

TP delay [ns]

TVC(c,b,ch)=(5,1,5)

S nu3.034e+09/ 3
po -1391+ 0.1
p1 196.1+ 0.0

= -5.10 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(5,1,9)

1 2.0z2e+09/3

po -1093+ 0.1
pl 186.3+ 0.0

-

= -5.37I [ps/ch]
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100

TP delay [ns]

Tona 2838e+09 /3

TVC(c,b,ch)=(5, 1, 13)

po S1174% 0.1
pl 185.6+ 0.0

5395,

TP delay [ns]

< z.)wae+09 /3
[ po 1223 0.1
[ p1 189.3+ 0.0
15000~ ]
10000~ 7]
5000 - ]
C ]
[
[ &#=-5.28 [ps/ch]
1
0 = 50 100

1 )_o/e+09 /3
[ po / 41224+ 0.1
L pl 190.5+ 0.0
15000 7
10000~ ]
5000 [~ 7]
C ]
[
-
[ &= -5.25 [ps/ch]
0, = L G
o 50 100

15000 — 7
10000 — ‘
soo0- '
[ &4 -4.90 [ps/ch]
o

TP delay [ns]

TVC(c,b,ch)=(5, 1, 6

TP delay [ns]

TVC(c,b,ch)=(5, 1, 10

TP delay [ns]

TVC(c,b,ch)=(5, 1, 14

T z9use+09 /3
po 1566+ 0.1
p1 203.9+ 0.0
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10000

5000

20000

15000

10000
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15000

10000
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15000

10000

5000

TVC(c,b,ch)=(5, 1,
T A

3)

T s.0ure+09/3

po -1440% 0.1
pL 197.9:+ 0.0

= -5.0&;_:é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(5,1,7)
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po -1821+ 0.1
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& -4.66 [ps/ch]
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100
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100
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po 1222+ 0.1
pl 188.3+ 0.0

S 5Lps
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TVC(cbch) (5.2,0)

T LGUée+09/3
-1003+ 0.1
15000~ / 180.1+ 0.0
10000 ]
5000~ ]
‘= -5.55 [ps/ch]
0 = 5ll) 100
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TVC(c,b ch) (5.2,4)
S rnanzuze+09/3
pO -943.3% 0.
15000} pL / 1;‘8,9: 0.01
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5000 - -
‘= -5.59 [ps/ch]
o = £ 00
TP delay [ns]
TVC(c,b ch) ( 5 2,8)
Tnu2.544e+09/3
pO 1189+ 0.1
p1 / 1895+ 0.0
15000 =
10000 ]
5000 [~ ]
= -5.28 [ps/ch]
% = EY 00
TP delay [ns]
TVC(c,b ch) (5, 2 12)
Tanunz,54e+09/3
15000~ pl / 1977:3?:(?01
10000 i
5000~ i
‘= -5.58 [ps/ch]
o Fo g ———5
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15000
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5000 [~
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10000
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15000
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TVC(cbch) (5 2,1)

Trnang IDUe+09/3
-953.5+ 0.1
177.5+ 0.0

- -5'625 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 2,5

AL L2 bﬁze+09/3
-647.8+ 0.1
166+ 0.0

= -6.02 [ps/ch]
%

100
TP delay [ns]

TVC(c,b ch) (5, 2

rnany zzze+09 13
-1251% 0.1
193 8+ 0.0

= -5.16 [ps/ch]
= 5

100

TP delay [ns]

TVC(C, bch) (5 2,13)

T 4 /soe+09/3
-883.2+ 0.1
1765+00

£ 566 sl

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000~

0

15000
10000

5000

TVC(cbch) (5 2,2)

Tonangz, /319+09/3
-1086+ 0.1
184.6+ 0.0

= -5.42I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (5 2,6

- rnun2.bzye+09 /3
<7279+ 0.1
169.9+ 0.0

= -5.88 [ps/ch]
£

100
TP delay [ns]

TVC(cbch) (5 2,10

T Zo3e+09/3
-1028+ 0.1
182.2+ 0.0

= -5.49I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 2,14

T z.031e+09/3
-905.2+ 0.1
178.7+ 0.0

- -5.60I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000

5000

15000

10000

5000

TVC(cbch) (5 2,3)

Tnan g uue+09/3
-901.1+ 0.1
178 2% 0.0

- -5.6;[ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 2

AL A /3/E+09/3
-854.8+ 0.1
1753+ 0.0

= -5.70 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (5 2

Sl zyue+09/3
-965.8+ 0.1
17BG+ 0.0

= -5.60 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (5, g 15)

o uue+09/3
-879.7+ 0.1
1765+ 0.0
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15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 =

0

15000

10000

5000

TVC(cbch) (5 3,0)

LAl 5Ubt¢e+09/3
-1157+ 0.1
183.1+ 0.0

= -5.46I [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 3,4

Srna 2yze+09/3
-1766+ 0.1
211.1% 0.0

= -4.74 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (5 3,8

T 2.848e+09 /3
PD -1049+ 0.1
pl 183.3+ 0.0

'~ -5.46 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (5,312

Tonu3uL/e+09/3
-1059+ 0.1
P1 180.7 + 0.0

- -5.53I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~
b

TVC(cbch) (5 3,1)

Trnang uuae+09/3
-1181+ 0.1
185 5+ 0.0

= -5.3(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 3,5

Ty, 1b/e+09/3
-1415+ 0.1
1968+ 0.0

= -5.08 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (5, 3

rnany uuye+09/3
-731+ 0.1
167 5+ 0.0

= -5.97I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 3,13)

T ¢ 4459+09/3
-1266+ 0.1
1903+ 0.0
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TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000 [~

TVC(cbch) (5 3,2)

LAl suae+09/3
-1192+ 0.1
1859+00

= -5.38I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (5 3,6

Srnun 3.138e+09 /3
pO 41225+ 0.1
pl 187.13 0.0

‘= -5.35 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5, 3 10

LI Ne+09/3
-1168+ 0.1
189 9+ 0.0

= -5.27I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 3,14)

T s mve+09 /3
-1267+ 0.1
191 7+ 0.0

= -5.22I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 3,3)

Tona 4 J.bbe+09/3
-1313+ 0.1
189 7+ 0.0

= -5.2; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 3,7

-/ nar 5e+09 13
1387+ 0.1
1 194 8+ 0.0

= -5.13 [ps/ch]
- 5

100
TP delay [ns]

TVC(c,b ch) (5 3

Tz, /uue+09/3
-957.2+ 0.1
1796+ 0.0

= -5.57 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (5 3,15)

S z a44e+09/3
-1025+ 0.1
181 7+0.0

h

550 0psich
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15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000

TVC(cbch) (5 4,0)

ALY .sunse+09/3
-1046+ 0.1
180.5+ 0.0

= -5.54I [ps/ch]
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TP delay [ns]

TVC(c,b ch) (5 4,4

- rnun 3.090e+09 /3
pO -901.4+ 0.1
pl 175.4:+ 0.0

= -5.70 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (5 4,8

T 3138e+09 /3
PD -1205+ 0.1
pl 185+ 0.0

= -5.41 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (5,4, 12

Tinu2541e+09/3
-1090+ 0.1
P1 182.3+ 0.0

= -5.48I [ps/ch]
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TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000
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P

15000

10000

5000

TVC(cbch) (5 4,1)

Tona 43549+09/3
-843.8+ 0.1
1735+ 0.0

= -5.7(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 4,5

Ty, usae+09/3
-1142 £ 0.1
1838+ 0.0

= -5.44 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (5, fl

rnany ﬁbbe+09 13
-1269+ 0.1
190.. 1+ 0.0

= -5.26I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 4,13)

T zyue+0913
-1177+ 0.1
1865+00

<538 psich)
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TP delay [ns]

15000
10000

5000~

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (5 4,2)

ALY 4\.7449+09/3
-1209+ 0.1
188.8+ 0.0

= -5.30I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (5 4,6

T rnun 2.859e+09 /3
pO 1319+ 0.1
pl 192.4:+ 0.0

= -5.20 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5 4 10

~ i 2. 909e+09 /3
-1139+ 0.1
186.7+ 0.0

= -5.36I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 4,14

T 2.984e+09 /3
-1019+ 0.1
181.4+ 0.0

- -5.51I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000
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15000

10000
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15000

10000
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TVC(cbch) (5 4,3)

Tornan g, IJ£e+09/3
-1043+ 0.1
182 7+ 0.0

- -5.4; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 4,7

Sz bbze+09/3
-987.3+ 0.1
178+ 0.0

= -5.62 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5 4

Tz, //ze+09/3
-1235+ 0.1
191 2+ 00

‘= -5.23 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (5 4,15)

T z 134e+0913
-1106 £ 0.1
186.1+ 0.0

537 lpsie]

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000
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TVC(cbch) (5 5,0)

LAl 51ase+09/3
-1163+ 0.1
184.8+ 0.0

=-541 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 54

- rnun 3.040e+09 /3
pO 1253+ 0.1
pl 189+ 0.0

= -5.29 [ps/ch]
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100
TP delay [ns]

TVC(c,b ch) (5 5,8

T z80/e+09 /3
PD -1275+ 0.1
pl 188.2+ 0.0

= -5.31 [ps/ch]
- 5(‘) 100
TP delay [ns]

TVC(cbch) (55,12

Tnu 3.us1e+09/3
-1064+ 0.1
P1 180+ 0.0

- -5.56I [ps/ch]
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15000

10000
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15000
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3

TVC(cbch) (5 5,1)
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-1425+ 0.1
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-1207+ 0.1
1888+ 0.0

= -5.30I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 5,13)

T 4 HHbe+09/3
-1275+ 0.1
191+ 0.0

<524 psich)

100

TP delay [ns]

TVC(cbch) (5 5,2)

LAl 4‘.7469+09/3
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182.8+ 0.0
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T 3131e+09/3
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-1468+ 0.1
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‘= -5.01 [ps/ch]
50

100
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-1174 £ 0.1
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100
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-1157+ 0.1
184 4+ 0.0
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5000

15000
10000

5000 [~

0

15000
10000

5000 [~

TVC(cbch) (5 6,2)

A~ rna 4/(39+09/3
-1106 + 0.1
185.4+ 0.0

= -5.39I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (5 6, 6

S rnu 2.938e+09 /3
pO 1264+ 0.1
p1 1902+ 0.0

‘= -5.26 [ps/ch]
- EY

100
TP delay [ns]

TVC(cbch) (5 6 10

Tz, g0e+09 /3
-1043+ 0.1
183.5+ 0.0

= -5.45I [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (5 6 14

T 3.0z2e+09 /3
-1325+ 0.1
191.8+ 0.0

= -5.22I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 6,3)

Tnun g 343e+09/3
-1102+ 0.1
185.1+ 0.0

= -5.4(5_)6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 6,7

a2 bsbe+09/3
-1065+ 0.1
L 179 8+ 0.0

= -5.56 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5 6

S zbsse+09/3
-920.5+ 0.1
- 1768*00

'— -5.66 [ps/ch
= ﬁ[p ]

100

TP delay [ns]

TVC(c,b ch) (5 6 15)

AL 4 Ubbe+09/3
-1345+ 0.1
195 2+ 0.0

£ 51205

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (5 7,0)

ALY L‘.Née+09/3
-1205+ 0.1
1898+ 0.0

= -5.27I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 7,4

S rnun 2.810e+09 /3
pO 1028+ 0.1
pl 179.2:+ 0.0

‘= -5.58 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (5 7,8

T 28/0e+09 /3
PD -867.9% 0.1
pl 1745+ 0.0

‘= -5.73 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (57,12

TnunLuzoe+09/3
-1003+ 0.1
P1 190.9+ 0.0

= -5.24I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 7,1)

Tona J UUle+09/3
-1331+ 0.1
193 8+ 0.0

= -5.1(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 7,5

AT yzze+09/3
-1224+ 0.1
191 6+ 0.0

= -5.22 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5, 7

rnany ::we+09 13
-1461% 0.1
200 6+ 0.0

= -4.99 [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 7,13)

T 1 J.U49+09/3
-1256+ 0.1
202 5+ 0.0

£ -4.94 [psich]

100

TP delay [ns]

15000
10000

5000~

15000
10000

5000

15000
10000

5000

0

15000
10000

5000

TVC(cbch) (5 7,2)

LAl 45.549+09/3
-1149+ 0.1
187.9+ 0.0

= -5.32I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (5 7,6

- $0z0e+09 /3
PO -1145+ 0.1
pl 186.7 + 0.0

‘= -5.36 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5, 7 10

T 2.803e+09 /3
DO -1268+ 0.1
pl 193+ 0.0

= -5.18I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 7,14

T Luy/e+09/3

-1164 + 0.1
198.6+ 0.0

5,03 [psich]

50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 7.3)

Tnan g uu4e+09/3
-1155+ 0.1
188+ 0.0

= -5.3?6 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 7,7

S zsb/e+09/3
-1185+ 0.1
1898+ 0.0

= -5.27 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5 7

Tz, /4ue+09/3
-1158 £ 0.1
189 5+ 0.0

= -5.28 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (5 7,15)

T 1 144e+09/3
-1085+ 0.1
195 8+ 0.0

51 fpsich]

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (5 8,0)

Trnang, 1659+09 /3
-1368+ 0.1
193.8+ 0.0

= -5.16I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 8,4

S rna2871e+09/3
pO -1181% 0.1
pl 1875+ 0.0

= -5.33 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (5 8,8

Tz, rs0e+09 /3
PD -1285+ 0.1
pl 192.3+ 0.0

= -5.20 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (5,812

Tonuz910e+09/3
-1090+ 0.1
P1 184.8+ 0.0

= -5.41I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

15000

10000

5000

TVC(cbch) (5 8,1)

AL J 1ce+09/3
-1471+ 0.1
1998+ 0.0

= -5'025 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 8

AL L2 /yye+09/3
-1198 £ 0.1
190+ 0.0

= -5.26 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5, 8

s z 58e+09 /3
-1211+ 0.1
189.1+ 0.0

= -5.29I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 8,13)

T 4 sube+0913
-1205+ 0.1
1878+ 0.0

<532 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000

10000

TVC(cbch) (5 8,2)

ALY zavve+09/3
-1171£ 0.1
187.6+ 0.0

= -5.33I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (5 8,6

“rnu z811e+09/3
pO -1088+ 0.1
pl 184.7:+ 0.0

‘= -5.41 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5 8 10

Trna 30ze+09/3
-1167+ 0.1
187.7+ 0.0

= -5.33I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 8,14

5000~
3

T z801e+09 /3
-1031% 0.1
182.1+ 0.0

- -5.49I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 8,3)

Tona 4ubbe+09/3
-1192+ 0.1
1876+ 0.0

= -5.3:; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 8

Sz, /bye+09/3
-1164 £ 0.1
189 5+ 0.0

= -5.28 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5 8

Tz a::ye+09/3
-1103+ 0.1
187 6+ 0.0

= -5.33 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (5 8,15)

T z 3b3e+09/3
-1376+ 0.1
196 6+ 0.0

S 5090psich)

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (5 9,0)

LERL2 léée+09/3
-850+ 0.1
174.9+ 0.0

= -5.72I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 9,4

S 2.633e+09 /3
pO -782.8+ 0.1
pl 1712+ 0.0

= -5.84 [ps/ch]
EY

100

TP delay [ns]

TVC(c,b ch) (5 9,8

Tnu2.330e+09/3
pO 7544+ 0.1
pl 173.4+ 0.0

= -5.77 [ps/ch]
5(‘) 100

TP delay [ns]

TVC(cbch) (5,9, 12

X~ inun Zbye+09/3
-891.2+ 0.1
P1 175.2+ 0.0

= -5.71I [ps/ch]

100

TP delay [ns]

15000

10000

5000 7

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 9,1)

Trnang IUle+09/3
-867.7+ 0.1
1752+ 0.0

= -5.6?é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 9,5

AL L2 b/he+09/3
-724+ 0.1
169.1+ 0.0

= -5.91 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (5, 9

rnany bUbe+09/3
-947.1+ 0.1
180 5+ 0.0

- -5.54I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (5 9,13)

T znybe+0913
-930.5+ 0.1
17BB+00

2559 sl

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000
10000

5000 [~

TVC(cbch) (5 9,2)

LAl 44/49+09/3
-767.8+ 0.1
172+ 0.0

= -5.81I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (5 9,6

S rnu2o8/e+09/3
pO 41126+ 0.1
pl 187.4+ 0.0

‘= -5.34 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5 9 10

Tnan g \sooe+09/3
-667.1+ 0.1
1682+ 0.0

= -5.95I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 9,14)

T Lb((e+09/3
-1183+ 0.1
1902+ 0.0

= -5.26I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (5 9,3)

Tona 4:>JJe+09/3
-788.5+ 0.1
1728+ 0.0

= -5.726 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (5 9,7

S szyE+09/3
-871.7+ 0.1
1767+ 0.0

= -5.66 [ps/ch]
5

100
TP delay [ns]

TVC(c,b ch) (5 9

Sl uw::e+09/3
-691.6+ 0.1
1682+ 0.0

= -5.94 [ps/ch
3 ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (5 9,15)

T zmsye+09/3
-951.4+ 0.1
17QB+ 0.0

S 558 bseh]

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~
P

15000

10000

5000 =

0

15000

10000

5000

TVC(cbch) (5 10,0)

AT 5U<d€+09/3
-1159 + 0.1
182.6+ 0.0

= -5.48I [ps/ch]

100

TP delay [ns]

TVC(cbch) (5.10,4

S 30746409/ 3
1406+ 0.1
pl 195.7+ 0.0

-5.11 [ps/ch]
EY

100
TP delay [ns]

TVC(c,b, ch) (5, 10

Tinu Zg8ge+09/3
PD -1209+ 0.1
pl 184.6 + 0.0

= -5.42 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (5.10,12

Tnun 2,9vse+09/3
-1021% 0.1
P1 181.5+ 0.0

= -5.51I [ps/ch]

TP delay [ns]

15000

10000

TVC(cbch) (5 10, 1)

5000 [~

15000

10000

5000

15000

10000

5000

15000

10000

5000

Ao 4 aue+09/3
-1295+ 0.1
189 5+ 0.0

= -5.2?é [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 10,5)

Snang, uwe+09/3
-1466+ 0.1
198 2+ 0.0

= -5.05 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (5 10

AT 5411e+09/3
-1378+ 0.1
1944‘* 0.0

= -5.14I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5 10,13)

AL ¢ UUJe+09/3
-1272+ 0.1
1933+ 0.0

€517 sl

100

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (5 10,2)

Lt dlbze+09/3
-1397+ 0.1
195.6+ 0.0

-5.11 I[ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5 10,6

S rnu3.070e+09/3
-1634+ 0.1
2066+ 0.0

< -4.84 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (5 10 10

T 3.120e+09 /3
-1356+ 0.1
194.8+ 0.0

= -5.13I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.10,14

-1227+ 0.1

T 2,9o0e+09 /3
/ 191.1+ 0.0

= -5.23I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (5 10, 3)

AT rnan 4 U:>4e+09/3
-1329+ 0.1
194.1+ 0.0

= -5.1?6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5 10,7)

-1476+ 0.1

SRRITTIRY Ubbe+09/3
2004+ 0.0

= -4.99 [ps/ch]
50

100
TP delay [ns]

TVC(cbch) (5 10 11)

-1351% 0.1

Tnun g iUﬁe+09/3
189 8+ 0.0

= -5.27 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (5 10,15)

-1116+ 0.1

A z ﬂdde+09/3
185 7+0.0

£ 539 lpsich]

100

TP delay [ns]



TVC(cbch) (511,0)

15000

10000

5000

Tanangzrze+09/3
PO -1029+ 0.1
pl 176.6+ 0.0

= -5.66I [ps/ch]

15000

10000

5000

15000

10000

5000

0

15000

10000

5000

100

TP delay [ns]

TVC(cbch) (511,4

S a2z bbe+09 /3
pO 1377+ 0.1
pl 194+ 0.0

= -5.15 [ps/ch]
- £

100
TP delay [ns]

TVC(cbch) (5, 11 8

Tz 57e+09/3
PD -1047+ 0.1
pl 181.3+ 0.0

‘= -5.51 [ps/ch]
= EY

100

TP delay [ns]

TVC(cbch) (511,12

Tnu2842e+09/3
-1092+ 0.1
P1 186.1+ 0.0

= -5.37I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

15000

10000

5000 -

TVC(cbch) (5.11,1)

“rnun zu51e+09/ 3
PO -1289+ 0.1
p1 192.9% 0.0

= -5.1&;)é [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 1,5)

Sanan g, /hae+09/3
-1489+ 0.1
2004+ 0.0

= -4.99 [ps/ch]
50

100
TP delay [ns]

TVC(c,b ch) (5 11,9

Tonan g, :nsze+09/3
-1150 £ 0.1
188 5+ 0.0

= -5.30I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5 11,13)

AL 4 139e+09 /3
-1126 £ 0.1
184.1+ 0.0

£ 543 sl

100

TP delay [ns]

TVC(cbch) (511,2)

15000

10000

5000

Trnu2510e+09/3
PO 1446+ 0.1
pl 200.2+ 0.0

= -5.00 [ps/ch]

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

100

TP delay [ns]

TVC(cbch) (5 11,6

- rnu 2.808e+09 /3
pO 1403+ 0.1
pl 197+ 0.0

= -5.08 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (5, 11 10)

Tz 8e+09/3
DO -1235+ 0.1
pl 188+ 0.0

= -5.32I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5 11,14)

T zpYoe+09 /3
-1219+ 0.1
191+ 0.0

= -5.24I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (511,3)

T nun 28boe+09/ 3
PO -1438+ 0.1
pl 2015+ 0.0

= -4.9(3é [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 1,7)

Sz, /3/E+09/3
-1307+ 0.1
193+ 0.0

= -5.18 [ps/ch]
= 5

100
TP delay [ns]

TVC(Ebeh)= (5 1,11)

Tnun 2 a::::e+09/3
-1261% 0.1
191 8+ 0.0

= -5.21 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(cbch) (5 11,15)

A z yuye+09 /3
-1291+ 0.1
195 2+ 0.0

£ 5125l

100

TP delay [ns]



15000

10000

5000

15000

10000

TVC(cbch) (5 12,0)

ALY £64é9+09/3
-1019+ 0.1
181.3+ 0.0

= -5.52I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5.12,4

5000~

15000

10000

5000

0

15000

10000

i 2.90ve+09 /3
1049+ 0.1
pl 182.4+ 0.0

‘= -5.48 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b, ch) (512,8

Tz, r52e+09 /3
PD -918.2+ 0.1
pl 174+ 0.0

= -5.75 [ps/ch]
EY

100

TP delay [ns]

TVC(cbch) (512,12

5000 [~

Tanunz r80e+09/3
-829.3+ 0.1
P1 172+ 0.0

= -5.81I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000 -

TVC(cbch) (5 12,1)

LA uuae+09/3
-1155+ 0.1
185.1+ 0.0

= -5.4(5_)é [ps/ch]

100

TP delay [ns]

TVC(cbch) (5 12,5)

AL L2 mjhe+09/3
-1054+ 0.1
182 7% 0.0

‘= -5.47 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (5 12,9

AL szbe+09/3
-770.5+ 0.1
1712+ 0.0

= -5.84I [ps/ch]
50

100

TP delay [ns]

TVC(cbch) (5 12,13)

T uuze+09/3
-1123+ 0.1
1846+00

£ 5425l

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

10000

5000

0

15000

10000

5000

TVC(cbch) (5 12,2)

LAl zao/e+09/3
-1313+£ 0.1
192.8+ 0.0

= -5.19I [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (5.12,6

Srna 2 52e+09/3

PO 41154+ 0.1
L 183.7+ 0.0

‘= -5.44 [ps/ch]
= EY

100
TP delay [ns]

TVC(cbch) (5 12 10

15000

T 2po9e+09 /3
-749.5% 0.1
168.3+ 0.0

= -5.94I [ps/ch]

50 1(3:0
TP delay [ns]

TVC(cbch) (5 12, 14

T 2.834e+09 /3
-1278+ 0.1
192.7+ 0.0

= -5.19I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(C, bch) (5 12,3)

AT o 4 3A4e+09/3
-1286+ 0.1
188.1+ 0.0

= -5.3?6 [ps/ch]

100

TP delay [ns]

TVC(c, bch) (5, 12 7)

nur ASJ_LE+09/3
-1135+ 0.1
185 8+ 0.0

= -5.38 [ps/ch]
= 5

100
TP delay [ns]

TVC(eb,ch)= (5 12, 11)

Tz /re+09/3
-870.7+ 0.1
o 1748+00

= -5.72 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(cbch) (5 12,15)

T zume+09/3
-948 + 0.1
r 1765+00

S 588 s

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000

0

15000

10000

5000 [~

TVC(cbch) (5 13,0)
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= -5.79 [ps/ch]
E— S(I) —t— 100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

15000

10000

5000 -

TVC(c,b,ch)=(6, 4, 1)
T A

= 52?5 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(6, 4,5)

T 2syre+09/3
po 41197+ 0.1
p1 1895+ 0.0
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'~ -5.67 [ps/ch
- ﬁ[p ]

100

TP delay [ns]

TVC(c,b,ch)=(86, 5,

15)

e 2.y3e+09/3

po
pl 190.7+ 0.0
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= -5.39 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (6 6

Sl zmze+09/3
-931.6+ 0.1
1782+ 0.0
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0 £ = 100
TP delay [ns]
TVC(c,b,ch)=(6,7,4)
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£ 530 psich]

100

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

0

15000

10000

5000 [~

T s.2ure+09/3

TVC(c,b,ch)=(6,9,0)
T X

po -1383+ 0.1
pL 197.6:+ 0.0

= -5.06 [ps/ch]
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£

100

TP delay [ns]

TVC(c,b,ch)=(7, 0, 12

Sinu Zwyer09/3
po 1375+ 0.1
p1 193.5+ 0.0

-5.17I [ps/ch]

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 7

15000

10000

5000 -

TVC(c,b,ch)=(7,0,1)
T A

= 52?5 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,0,5)

T 8.124e+09 /3
po 1247+ 0.1
p1 1895+ 0.0

“rnur Z2y9oe+09/3
po -1110¢ 0.1
p1 1864+ 0.0

‘= -5.37 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(7,0,9)

1 2p87e+09/3

po -1209+ 0.1
pl 188.8+ 0.0

= -5.30I [ps/ch]
50

100

TP delay [ns]

Tnu3.0u5e+09 /3

TVC(c,b,ch)=( 7,0, 13)

po 1349+ 0.1
pl 1955+ 0.0

£ 51205

TP delay [ns]

T g1o0e+09 /3

15000

10000

5000 [~
o

TVC(c,b,ch)=(7,0,2)
- T A

po -1353+ 0.1
pL 194.9:+ 0.0

= -5.13 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(7,0, 6

15000

10000

5000

S rnun 2.820e+09 /3
po 1007+ 0.1
p1 181.2+ 0.0

= -5.52I [ps/ch]
0

5 100

TP delay [ns]

TVC(c,b,ch)=(7, 0, 10

15000

10000

5000~

0

Srnu 2y2e+09/3
po -1107+ 0.1
pl 182.9+ 0.0

‘= -5.47 [ps/ch]

- 1 L
50 100

TP delay [ns]

15000

10000

5000 [~
P

TVC(c,b,ch)=(7, 0, 14

T 3.002e+09 /3
po 1546+ 0.1
p1 202.8+ 0.0

£ 493 lps/ch]

- i L
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 7,0, 3)
T A

T 3.u30e+09 /3
po 1218+ 0.1
p1 186.1+ 0.0

= 5.3; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,0,7)

Sorna o 2ue+09/3
po -987.9+ 0.1
p1 1799+ 0.0

= -5.56 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(7, 0, 11)

“onun 2. yoge+09 /3

po -1089+ 0.1
pL 183.5+ 0.0

= -5.45 [ps/ch
- ﬁ[p |

100

TP delay [ns]

~inu 2. 9ove+09/3

TVC(c,b,ch)=( 7,0, 15)

po 1257+ 0.1
pl 190.3+ 0.0

S 5285

TP delay [ns]



15000

10000

5000~

15000

10000

5000 [~

15000

10000

5000 =

0

15000

10000

5000

TVC(c,b,ch)=(7,1,0)
T *

po
pl

rnus.121e+09/3

-1259+ 0.1
189+ 0.0

= -5.29I [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,1, 4

-

po
pl

nur 295/e+09 /3
-1111+ 0.1
183.8+ 0.0

‘= -5.44 [ps/ch]
= EY
TPd

TVC(c,b,ch)=(7,1

100

elay [ns]

, 8

Tinu 2g/e+09/3
po 1074+ 0.1
pl 182.7 + 0.0

‘= -5.47 [ps/ch]
EY

TP d

'

TVC(c,b,ch)=(7, 1,

100

elay [ns]

12

Tnu2518e+09/3
PO -898.5+ 0.1
pl 171.7+ 0.0

= -5.82 [ps/ch]

TP d

100

elay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 7

15000

10000

5000 -

TVC(c,b,ch)=(7,1
T A

'

1)

“rnun g.218e+09/ 3
PO 1242+ 0.1
p1 184+ 0.0

= 5.445_1é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7, 1

'

.5)

“onuar3a51e+09/3
po -1048+ 0.1
pl 183.2+ 0.0

‘= -5.46 [ps/ch]
5

TPd

TVC(c,b,ch)=(7, 1

100

elay [ns]

,9)

1 3.0o/re+09/3

p0 -1009+ 0.1
pl 182.3+ 0.0

=-5.49 [ps/ch]
50

TP d

TVC(c,b,ch)=(7, 1,

100

elay [ns]

13)

rua 2.yoe+09 /3

PO -1084+ 0.1
pl 183.9+ 0.0

£ 5.4 oSl

100

TP delay [ns]

T s19s3e+09 /3

TVC(c,b,ch)=(7, 1, 2)
T A

po -1251# 0.1
15000 pl / 186.7+ 0.0
10000 ]
so00|- ]
L G#= -5.36 [ps/ch]
0 = 5(') 100
TP delay [ns]
TVC(c,b,ch)=(7,1,6)
r T X~ 3119e+09/ 3
L LY -1024+ 0.1
15000~ Pl / 1805+ 0.0
100001 ]
5000 -— _-
[ (A= -5.54 [ps/ch]
o = £ 00

TP delay [ns]

TVC(c,b,ch)=(7, 1, 10)

- . X~ 1 2.801e+09 / 3
15000 2(1) / 1;5?5 : g.;
10000-— T

5000-— ]
= -6.01 [ps/ch]
05 = 00

TP delay [ns]

TVC(c.b,ch)=(7, 1, 14

T X1 1ur 2910e+09/ 3

0 - +0.

15000-— gl / 12?21 g_ol
10000-— ]
5000-— ]

[ &%= -5.39 [ps/ch]
S

TP delay [ns]

'

TVC(c,b,ch)=(7,1
T A

:3)

“ o 3.uoze+09 /3
po 1313+ 0.1
p1 / 192.7+ 0.0
15000 B
10000 ]
5000 |- 1
= -5.19 [ps/ch]
o = 1
50 100
TP delay [ns]
TVC(c,b,ch)=(7,1,7)
: X" nun 3.118e+09/ 3
po 1112+ 0.1
15000 p1 / 1846 0.0
10000 T
5000 7
‘= -5.42 [ps/ch]
0 = £ 00
TP delay [ns]
TVC(c,b,ch)=(7, 1, 11)
! X~ 7w 297e+0913
po 7875+ 0.1
15000~ p1 / 172.1% 0.0
10000 - T
5000 [ 1
= -5.81 [ps/ch]
o = 1
50 00
TP delay [ns]
TVC(c,b,ch)=(7,1,15)
T A1 z8yze+09 /3
po -997.2+ 0.1
15000 p1 / 179+ 0.0
10000 1
5000 [ 1
‘= -5.59 [ps/ch]
o
TP delay [ns]



T s.204e+09 /3

TVC(c,b,ch)=(7,2,0)
T A

0 1250 0.
15000~ zl / 15.5:1 g_ol
10000 = -
5000 [~ -
= -5.34 [ps/ch]
R = 5ll) 100
TP delay [ns]
TVC(c,b,ch)=(7,2,4) /
T X7 nun 2. yuse+09 /3
PO -1091+ 0.
15000~ pl / 1812,21t 0_01
10000~ -
5000 = -
= -5.49 [ps/ch]
o = 5:) 100
TP delay [ns]
TVC(c,b,ch)=(7,2,8) —
T K™ a2 soyeH
po -1403+ 0.1
pL / 196.1+ 0.0
15000 =
10000 = -
5000 - -
C = -5.10 [ps/ch]
% EY 100
TP delay [ns]
TVC(c,b,ch)=(7,2,12)
T X~ 1w 3.492e+09 / 3
0 1205 0.
n/ e
10000 -
5000 - -
= -5.44 [ps/ch]
I

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

TVC(c,b,ch)=(7,2,1)
T A

&= 5.1&;)é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,2,5)

T g.2uze+09 /3
po 1332+ 0.1
p1 192.7+ 0.0

“anua2y1e+09 /3
po 1239+ 0.1
pl 190.1+ 0.0

= -5.26 [ps/ch]
5

100

TP delay [ns]

TVC(c,b,ch)=(7,2,9)

1 2or3e+09/3

po -1040+ 0.1
[ pL 182.9+ 0.0

= -5.47I [ps/ch]
50

100

TP delay [ns]

Tinuz818e+09 /3

TVC(c,b,ch)=(7, 2, 13)

po 1170+ 0.1
pl 187.9+ 0.0

<533 pslon]

100

TP delay [ns]

T 5.351e+09 /3

15000~
10000~

5000 =

TVC(c,b,ch)=(7,2,2)
T A

po 1434+ 0.1
pL 1985+ 0.0

= -5.04 [psich]

100

TP delay [ns]

TVC(c,b,ch)=(7, 2,6

15000~
10000~

5000 [~

Srnu 2z ree+09/3
po 1004+ 0.1
p1 179.7+ 0.0

= -5.57I [ps/ch]
0

5 100

TP delay [ns]

TVC(c,b,ch)=(7, 2, 10

15000 =
10000~
5000 [~

0

T z2971e+09/3
po 11212+ 0.1
pl 190.1+ 0.0

= -5.26 [ps/ch]

- 1 L
50 100

TP delay [ns]

15000~
10000~

5000~

[ = -5.47 [ps/ch]

TVC(c,b,ch)=(7, 2, 14

T z810e+09 /3
po -1068+ 0.1
p1 182.8+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=( 7,2, 3)
T A

T g.uove+09 /3
po 1238+ 0.1
p1 189.8+ 0.0

= 5.2; [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,2,7)

S nun z2yzoe+09/3
po 1297+ 0.1
p1 194.1¢ 0.0

‘= -5.15 [ps/ch]
5

100
TP delay [ns]

TVC(c,b,ch)=(7,2,11)

Tonun3.135e+09/ 3

po -1430+ 0.1
pL 196.9+ 0.0

~ -5.08 [ps/ch
ﬁ[p |

100

TP delay [ns]

Tina2851e+09/3

TVC(c,b,ch)=(7, 2, 15)

po -1099+ 0.1
pl 185+ 0.0

S sdLlsn

TP delay [ns]



15000

10000

5000

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000 [~
P

TVC(cbch) (7 3,0)

ALY suue+09/3
-1258+ 0.1
187.4+ 0.0

= -5.34I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 3,4

- rnu 2.9yse+09 /3
pO 1232+ 0.1
pl 189.6:+ 0.0

= -5.27 [ps/ch]
= 5(‘) 100
TP delay [ns]

TVC(c,b ch) (7 3,8

T 2.889e+09 /3
PD -1142+ 0.1
pl 184.5+ 0.0

= -5.42 [psl/ch]
= 5(‘) 100
TP delay [ns]

TVC(cbch) (7,3, 12

X-inu Zyze+09/3
1247+ 0.1
P1 1902+ 0.0

= -5.26I [ps/ch]

100

TP delay [ns]

15000

10000

5000 [~

15000

10000

5000 [~
F

15000

10000

5000

15000

10000

5000 7

TVC(cbch) (7 3,1)

Tona J uwe+09/3
-1410+ 0.1
1959+ 0.0

= -5.1155[ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7, 3

1 z gse+09/3
-1371£ 0.1
195 6 0.0

-5.11 [ps/ch]
- %

100
TP delay [ns]

TVC(c,b ch) (7, 3

rnany mae+09 13
-1231+ 0.1
191 4+ 0.0

= -5.23I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (7 3,13)

T 4 ssue+0913
-1223+ 0.1
189 7+ 0.0

£ 527 sl

100

TP delay [ns]

15000

10000

5000

15000

10000

5000 [~

15000

10000

5000

0

15000

10000

5000

TVC(cbch) (7 3,2)

ALY zvuve+09/3
-1265+ 0.1
190.. 1+ 0.0

= -5.26I [ps/ch]

50 100

TP delay [ns]

TVC(c,b ch) (7 3,6

S rnu2.919e+09 /3
pO 1146 + 0.1
pl 184.4:+ 0.0

= -5.42 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (7, 3 10

ELE - ULe+09 /3
-1284+ 0.1
192+ 0.0

= -5.21I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7 3,14)

T suzae+09/3
-736.3+ 0.1
1688+ 0.0

= -5.92I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 3,3)

AL 3U4e+09/3
-1266+ 0.1
189 2% 0.0

= -5.226 [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7, 3

Al z B4e+09 /3
-1056+ 0.1
180 7% 0.0

= -5.53 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7 3

Tz uu/e+09/3
-1205+ 0.1
188 3+ 0.0

‘= -5.31 [ps/ch
= ﬁ[p |

100

TP delay [ns]

TVC(C, bch) (7 3,15)

T z /44e+09/3
-1118+ 0.1
184 9+ 0.0

<541 psich)

100

TP delay [ns]



15000

10000

5000~

15000

10000

5000

15000

10000

5000 =

0

15000

10000

5000

rnuez.13e+09/3

TVC(c,b,ch)=(7,4,0)
T *

po -1118+ 0.1
L pL 179.2:+ 0.0

= -5.58 [ps/ch]
= Sll) 100
TP delay [ns]
TVC(c,b,ch)=(7,4,4)
T X- 1z r88e+09 /3
i n/ _‘
= -5.55 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(7,4,8)
T X~ 1 z2yr4e+09 /3
g 2/ ]
‘= -5.41 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(7, 4,12)
T X~ 1 3.09/e+09 /3
i " / ;ﬁfﬁg‘
= -5.35 [ps/ch]
———— S(I) —t— 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000 -

TVC(c,b,ch)=(7,4,1)
T A

= 5.2::é [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,4,5)

“onua282/e+09/3
po 9482+ 0.1
- pl 175.8+ 0.0

T 2.938e+09 /3
po 1281 0.1
p1 1914+ 0.0

‘= -5.69 [ps/ch]
E

100
TP delay [ns]

TVC(c,b,ch)=(7,4,9)

rnun3.145e+09 /3

po -1062+ 0.1
pl 185+ 0.0

-

= -5.41I [ps/ch]
50

100

TP delay [ns]

Tnu 3.u35e+09 /3

TVC(c,b,ch)=(7, 4,13)

po 972.8+ 0.1
L pl 178.2+ 0.0

100

<561 pslen]

TP delay [ns]

15000

10000

5000

15000

10000

15000

10000

5000

0

15000

10000

5000

T 2/0e+09/3

TVC(c,b,ch)=(7, 4,2)
F T )(

po 1299+ 0.1
pL 1915+ 0.0

= -5.22 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(7, 4, 6

5000 [~
P

- rnun 3.024e+09 /3
po 1338+ 0.1
p1 195+ 0.0

= -5.13 [ps/ch]
- EY

100
TP delay [ns]

TVC(c,b,ch)=( 7, 4, 10

T 2941e+09 /3
po -894.9+ 0.1
pl 175.9+ 0.0

- -5.68 [ps/ch]

1 1
50 100

TP delay [ns]

[ = -5.51 [ps/ch]

TVC(c,b,ch)=(7, 4, 14

Tz r0/e+09/3
po -1058+ 0.1
p1 181.6+ 0.0

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(c,b,ch)=(7, 4, 3)
T A

T 2.930e+09 /3
po 1313+ 0.1
p1 1944+ 0.0

= -5.145}6 [ps/ch]

100

TP delay [ns]

TVC(c,b,ch)=(7,4,7)

S nu29z4e+09/ 3
po 1337+ 0.1
p1 1934+ 0.0

= -5.17 [ps/ch]
%

100
TP delay [ns]

TVC(c,b,ch)=(7, 4, 11)

Tonun2.9ybe+09 /3

po -1126 £ 0.1
pL 188.1+ 0.0

= -5.32 [ps/ch
- ﬁ[p |

100

TP delay [ns]

Tonan $110e+09/3

TVC(c,b,ch)=(7, 4,15)

po -1438+ 0.1
pl 198.2+ 0.0

£ -5.05 [psich]

100

TP delay [ns]



TVC(cbch) (7 5,0)

15000

10000

5000~

ALY .sunse+09/3
-1086+ 0.1
182.5+ 0.0

= -5.48I [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 54

15000

10000

5000

S rna3.041e+09 /3
pO -1000+ 0.1
pl 180+ 0.0

‘= -5.55 [ps/ch]
= £

100
TP delay [ns]

TVC(c,b ch) (7 5,8

15000

10000

5000 =
P

0

T 3102e+09 /3
PD -1261% 0.1
pl 189.4+ 0.0

0

= -5.28 [ps/ch]
- EY

100

TP delay [ns]

TVC(cbch) (7,5,12

15000

10000

5000

Tnun 2583e+09/3
1028+ 0.1
P1 179.9+ 0.0

= -5.56I [ps/ch]

100

TP delay [ns]

15000

10000

5000

15000

10000

TVC(cbch) (7 5,1)

AL J 2ce+09/3
-1113+ 0.1
183 2+ 0.0

= -5.4(;»é [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 55

5000 [~

15000

10000

5000

15000

10000

5000

S dllde+09/3
-1144 £ 0.1
1848+ 0.0

= -5.41 [ps/ch]
= 5

100
TP delay [ns]

TVC(c,b ch) (7 59

- rnar < se+09/3
O -1263+ 0.1
190 +0.0

= -5.26I [ps/ch]
50

100

TP delay [ns]

TVC(C, bch) (7 5,13)

T ¢ ddde+09/3
-1402+ 0.1
197+ 0.0

< 5,08 psich)

100

TP delay [ns]

15000
10000

5000

15000
10000

5000

15000
10000

5000

0

15000

10000

TVC(cbch) (7 5,2)

Tonan g, 1469+09/3
-1260+ 0.1
190.. 1+ 0.0

= -5.26I [ps/ch]

50 100

TP delay [ns]

TVC(c b ch) (7 56

Sz, mse+09/3
-1003+ 0.1
1805+ 0.0

‘= -5.54 [ps/ch]
= £

100
TP delay [ns]

TVC(cbch) (7 5,10

S 6Ul(e+09/3
-1245+ 0.1
1907+ 0.0

= -5.24I [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7, 5 14)

5000~
3

AL 4 vbe¢09 /3
-1350+ 0.1
191. 1+ 0.0

= -5.23I [ps/ch]

1
50 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

TVC(cbch) (7 5,3)

Tnuan g UJJe+09/3
187 5+ 0.0

-1138+ 0.1

= -5.3:; [ps/ch]

100

TP delay [ns]

TVC(c,b ch) (7 57

S 2 3bhe+09/3
[ 184+ 0.0

-1123+ 0.1

= -5.44 [ps/ch]
= %

100
TP delay [ns]

TVC(c,b ch) (7 5

Tz u::ue+09/3
B 174 7+0.0

-981.8+ 0.1

= -5.72 [ps/ch
ﬁ[p ]

100

TP delay [ns]

TVC(C, bch) (7 5,15)

-1050+ 0.1

T 4 Ume+09/3
- 180+ 0.0

556 lpsich)

TP delay [ns]



15000

10000

5000

15000

10000

5000 [~

15000

10000

5000 [~

0

15000

10000

5000

-

TVC(c,b,ch)=(7, 6,0)
T A

nur 3.528e+09 /3

R/
= -5.10 [ps/ch]
- 51‘) 100
TP delay [ns]
TVC(c,b,ch)=(7,6,4) /
T X7 nun 3.208e+09 / 3
i n/ _‘
‘= -5.45 [ps/ch]
= 5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(7,6,8) —
T ) .u-b4e-f-t .
L zl / 197281.35‘
= -5.61 [ps/ch]
5(‘) 100
TP delay [ns]
TVC(c,b,ch)=(7,6,12)
T X~ 3.011e+09/ 3
s Ve
= -5.94 [ps/ch]
—t— S(I) —t— 100

TP delay [ns]

15000

10000

5000

15000

10000

5000

15000

10000

5000

15000

10000

5000

[

TVC(c,b,ch)=(7,6
T A

1)

“rnun 3031e+09/ 3
L po -505.6+ 0.1
p1 165.2+ 0.0

= 6'0535 [ps/ch]

TP d

TVC(c,b,ch)=(7, 6

'

100

elay [ns]

,5)

= -5.19 [ps/ch]
5

“onan3.214e+09 /3
po -1218+ 0.1
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